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I CHE o2 ZHol| 22 Srfol WEAIZH0| S 0l2|= 28 (fi4)S 8ol A2 1%
S0k LO|CH 2t 04, 229l ZA| S 2= LYET OfL|2t 0| O F, 29| 21l Y&,
Lo|, R4 292 S CLEe 2210] AS 4~ AL YA 0|12 = 2E 2208 M7
A2{sts A2 27tsoth 5, 5 SA10| 4= AZt0| 24ctE 0| F&otA Alttst=
20| 275522 daf F0{2 AR S 0|&5t0] 1 BAte| UE A[ZHS 2[chst YE5H

1.2 A=

1.2.1 AR F&

N

Al2= 3H YA (quantitative, numerical) 2At22} 1A (qualitative) Al2 2 F&235tCH ™
A, A2 Y A2 2At2 1 A7t At oY 2 tiEdth= A 1

H43 24RO} O[AHY ARE PRECH ASHUABRE Y, B S YYTHO| U424
DS 33 4 U AR0|D, O|AY ARE Of S0 Ot 4, H7H HE U4 S YAUS
2|5t 2t=olc

23 (categorical) At22INE BT AHARE AH Y2 (nominal) A2t & MF

RE MY TRM S C| 222 98 HOR HH| 3L

)
S
o)
Q
Y
HU
HU
=
Hr
(ol
Jo
og
Rl

TE2 floll RAE tSAIZ FOICh BHH, &MY AR E HFS0| =A2 S 7=
P

1.2.2 7|

So| At=mE o] 7He| B4~ (variable) 2 |0 QoD Z2F HAS2 BEE R4 (response)
T= MY (covariates) 2 A E|O] QUCH BHESBIaE &5 YVete 7|E2 LIEfY D, A
B (SHY 0l2tlx &)= pi7t US B Xy, -+, X, 2 LIEfHC) (iR YL X,
Jtn A=EAS W z,q, -, 2, 22 HEILHD, 252 |7t gle 82 &8 H4 X0



Chet =2 FA| 2y, -+, z, 22 LIEHHCE 5, EY H4E 2JY 82 H2AZ EAISHL,
Off Bt = oS BAIY 32 22AE AESIO &t 0| E S0 y, = 85 Y

1.3.1 Re &4 & 43|

A=E EM4517| oM ER2S 02 7tA| AlLhES EotFe ATEQ0E SAH I |A| (sta-
tistical package)2t1! sttt AAREM S 25t SAIHZ A= 02| SF7F WL &[0 A2Lt

CHE 20l B 7}/ ATH510 C}2D

m
in}

SAS (Statistical Analysis System), MINITAB, BMDP (BioMeDical Package), SPSS (Sta-

tistical Package for Social Science)

O|2/0l= o2 SR SAMZ|R|7t UL}t CHEE AR ZE A[=cHOFEt 0| 8e 4~ QUCH.

2Lt O|A| &2l5t= RO|Z SHIHZ | X | = O E820|HM FE2 AIES £+ ALEE 2
o

YROIM= RE ALEE Z0[T 00f| THE ALBY S 7HaFs| 71T,

Jm

ROt £SiQ171? R2 THE1t 22 £30| AUt

rlo
rlo

1

) open source program
2) S (programming language) => S plus => R
)
)

(
(
(3) 12 7|50 O Foi
(4) 5,000707t d= TZ|A| (ES2 )7t B0 JA2H AL M2 T47 | R| 7} B A E
RE AHESH7| fIsHME www.r-project.org Ol E&5H0] Ct32| Aatz CHREe ™ ECt
(1) go to the site called CRAN (Comprehensive R Archive Networks)
http://www.r-project.org/

(2) execute “Download R*

(3) choose Korea http://cran.nexr.com/
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(4) click “Download for R Windows*
(5) click “base”

(6) click “Download R 4.3.2 for Windows”

1.3.2 RAIEY

2

A Folg 4

!

(1) case sensitive
(2) commands are separated by ; or newline
(3) comments can be put anywhere starting with #

(4) subsequent commands are made by +

B. LH& 7| (Inbuilt Facilities)

(1) help, example, demo

help(solve) EE= ?solve # solve 2= HHO ALEHO| CHSt dH#
example(solve) # solve 2= H0{0]| CHSH Ol A| #

demo(persp) # persp 2= HZ OO CHSt Of| A #

(2) Data

data() # W= U= ABLAS =212 5 USH

- women (height, weight, n=15)

stackloss (Air.Flow, Water.Temp, Acid.Conc., stack.loss, n=21)

faithful (eruptions, waiting, n=272)

- sleep (extra, group, n=20)

ofm
2

o
Ik
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(3) Libraries

Some useful libraries in R

- lattice : lattice graphics

- MASS : Modern Applied Statistics using S-Plus

- mgcv : generalized additive models

- nlme : mixed effects models

- nnet : neural networks and multinomial log-linear models
- spatial : spatial statistics

- survival : survival analysis

+ To see contents of “survival” library, for example, type

library(help=survival)

(4) Packages
You can install packages using “install packages”.
You have to open “library” to use packages.

e.g.) packages -> install packages -> choice of country -> download “lars” ->

library(lars) -> ?lars

(5) data editing

To use a “bacteria” dataset in the “MASS” library, type

library(MASS); attach(bacteria); bacteria

C. Simple Manipulations : Numbers and Vectors

(1) Vectors and assignment

x<-¢c(10.4,5.6,3.1,6.4,21.7)
assign(“x”, c(10.4,5.6, 3.1, 6.4, 21.7))

c(10.4,56,3.1,6.4,21.7) -> x
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1/x

y<-c(x, 0, %)y
(2) Vector arithmetic

v<E-2*x+y+1;v

15/7 - real

15%/%7 : integer part

15% %7 : remainder part
sum((x-mean(x))"2)/(length(x)-1)
var(x)

sqrt(-17) : NaN (not a number)
(3) Generating regular sequences

1:30; c(1:30); t <-c(1:30)

s3<-seq(-5, 5, by=.2); s3

s4 <- seq(length=51, from=-5, by=.2) ; s4
s5 <- rep(x, times=5); s5

s6 <- rep(x, each=5); s6

1.3.3 R Studio

RS 2Lt 21 0|1 ™25t AFRE 4 Q&2 T ot== GUI (Graphical User Interface)
A

T 27280 2 www.rstudio.com Of|A{ C}2Et0}
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1.3.4 AT A=

Of HO|A AP B ARE ST 2 47
2t

A=, 2, A=E G5t Us A ot 29, A 2t=9| LT,
=49| thd & LHEO] A70%[0f U202 ZHN5| 2 = 2 Ak=0)| Hish S=3] 0|35t |

HietCt,

(hmof e1c| A §Rte| E =& (Diabetes in Pima Indian Women)

(1) &2 : RQ| “MASS” library ; file name “Pima.te”

(2) A= 49 : 0|7 Of2[2Lt = T4 QIZ20| QIT A FAHR|HO|| AHESH= 21M| Of4f
O BAE 22 MAEAZ|F (WHO) Q| 7| =0 T2t T HOof| Tt Aot ZALS
AAIBHSECE 0] 22 = US National Institute of Diabetes and Digestive and Kidney
DiseasesOfl 2|5l =& =|U=0| 532 HO|| Chst 2tz S 332 F0j| Cigh 20|04, 100F2
ZAZ}Z (training data)= Pima.trofl L2, 07|0f] Y& Bi40| 7|20| L2t 2t2
(missing data) 1007HE &8t A2 Pima.tr20] £E%|0f ULt 0] Atz= 25F 8712|

L2 gL Q1 2 40 et 2= 2 22 Ch32 2L

variable label
npreg number of pregnancies (R4l 3l4)
glu plasma glucose concentration in an oral glucose tolerance

test (Sef20t 2834 5 - EY+32)

bp diastolic blood pressure (mm Hg) (0|2t7] &2}

skin triceps skin fold thickness (mm) (A2 &)

bmi body mass index (weight in kg/(height in m)A2) (M2 &FZ|4)

ped diabetes pedigree function (Z'= 71721 AtsAl)

age age in years (L}0])

type Yes or No, for diabetic according to WHO criteria (2= FF)
library (MASS)

data(Pima.te)

str(Pima.te)
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#> 'data. frame':

#>
#>
#>
#>
#>
#>
#>

#>

$ npreg: int
$ glu : int
$ bp & oant

$ skin : int
$ bmi  : num
$ ped : num
$ age : int
$ type : Fact

A2 250l I

A1y oA+

i
40
ro

332 obs. of &8 wariables:
6113250139 ...
148 85 89 78 197 166 118 103 126 119 ...
72 66 66 50 70 72 84 30 88 80 ...
35 29 23 32 45 19 47 38 41 35 ...

ofm
]
2
X
s

33.6 26.6 28.1 31 30.5 25.8 45.8 43.3 39.3 29 ...

0.627 0.351 0.167 0.248 0.158 0.587 0.551 0.183 0.704 0.263 ...

50 31 21 26 53 51 31 33 27 29 ...

or w/ 2 levels "No","Yes": 21 12222112...

3|7, training data and test data)
S QD0 st 20| L& (2R|AE! 37, SVM, k-NN)

=il QR0 YIS 0|2 HASS HOIK DHE ZAAE| B|ANS O

—

2 R HAS2 OfE 2S0| 200 T AL RITE (MY
d

&5t o

APEO| S0 ZE AQUVtof thist 0SS g B ISHES Lot Y&EIt? (false

positive and false negative, sensitivity and specificity, ROC curve and AUC)
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(I W22 (NCCTG Lung Cancer Data)

(1) &2 : RQ “survival” library; file name “lung”

(2) At=2| M : 0|= NCCTG (North Central Cancer Treatment Group)OA £~ El

228HO| I 22tRIO| MZ A7t Y LU0 CiEt A 22 M 25 8719l ez 7Y
|0 QU ZF H4e0f oSt 2E Y B2 T3 2
variable label
inst Institution code (H& ZE)
time Survival time in days (MZA|7F (EH2]: &)
status censoring status 1=censored, 2=dead (E=&& &)
age Age in years (Lt0])
sex Male=1 Female=2 (4g)
ph.ecog performance score - ECOG (Eastern Cooperative Oncology Group)
O 7ifgot Aotrto| of &S 0FE S57HA[Q] Y22 LIEIH Ao =2
Ci32t 20| Holstet,
0: YA OrF 2 A|F310| 258t
1:8o| A= AL LHE 2 0| YHH LS S £+ US
2: 0402 2R 0L AHH S S £+ QU2
3iAEHo 2 22Y 4 ULt 210 M BHo[42] A[ZHS ELHOF &
4: 2002 AU 4 glo 2H0|LE Q20| M B 20| Tts
5:AKY
ph.karno Karnofsky performance score (bad=0-good=100) rated by
physician (S[At7} HEFS= FH T AT| )
pat.karno Karnofsky performance score as rated by patient (227} Tt&tsh=
I L AT H)
meal.cal  Calories consumed at meals (AAt ZE22| &)
wt.loss Weight loss in last six months (|t 67207 A S LA
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library(survival)

data(cancer, "survival")

str (lung)

#> 'data. frame': 228 obs. of 10 wariables:

#> $ inst cnmum 333511271117 ..

#> $ time : num 306 455 1010 210 883 ...

#> § status cnum 2212212222 ...

#> § age : num 74 68 56 57 60 74 68 71 53 61
#> § sex cnum 1111112211

#> § ph.ecog :mnmum 1001012212 ...

#>
#>
#>

#>

3)

$ ph.karno : num 90 90 90 90 100 50 70 60 70 70 ...
$ pat.karno: num 100 90 90 60 90 80 60 80 80 70 ...
$ meal.cal : mum 1175 1225 NA 1150 NA ...

$ wt.loss : mum NA 15 15 11 0 0 10 1 16 34 ...

M g

| fetAte] HP2 O 22 S UEIL=1? (SIAEDRM, stem-and-leaf plot, 74
ULk box plot S)

O[AZt HEHSHE FHe T AT| 4ot BRI HESHE 7 TAT| H47H0| A2ttA =
o= Q1717 (L|oje ofetAl= & Zd, 2|02 A2tA 4~ L A7)

I 2 2tR}O| Z a0 st 2 (FHEEt-010[0f)

I QB2 tO| WMZAIZH0| HEHO|| et CHEY? (2O-&9 E4)

| 2 BE2O| MZAZH0| G2 0|2 = Haps FAQUTE? (ZAS[H DY, Hao| ME)
performance score (CHA)) & BISEH4AZ 3l 5| 23| 1% (proportional odds
model)

o Qt2tato] MZAIZE 022 T Al 2 (ZHAS|7, SVR, random forest,

boosting, concordance index2| A7f &! o|0])
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(I ©lop3 oke SAHZ (Malignant Melanoma in Denmark)

(1) &2: Re| “MASS” library ; file name “Melanoma”

(2) =2 4 : HOL30M L5t 2059
M 7709 B2 G0 A2 2

variable label

time survival time in days, possibly censored
status 1 died from melanoma, 2 alive, 3 dead from other causes
sex 1 =male, 0 = female
age age in years
year of operation
thickness  tumour thickness in mm

ulcer 1 = presence, 0 = absence

library (MASS)

data("Melanoma")

str (Melanoma)

#> 'data. frame': 205 obs. of 7 wariables:

#> $ time cant 10 30 35 99 185 204 210 232 232 279 ...

#> § status sdnt 3323111311

#> § sex cdnt 1110111010 ...

#> § age cant 76 56 41 71 52 28 77 60 49 68 ...

#> § year coant 1972 1968 1977 1968 1965 1971 1972 1974 1968 1971

#> § thickness: num 6.76 0.65 1.34 2.9 12.08 ...
#> § ulcer int 1000111111
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- SMZ BRI MEAIZLOES 2T Hileld 2Y (ZFA3|4, SVR, random forest,
boosting, concordance index2| A7 & 2|d|)
« HY (ulcer) {0 = M=ek42| 210|0f| Ciet A (2-&2 23)
(IV) MMt 3k212t2 (Prostate Cancer Data)
(1) &4 RQ| “lasso2” library ; file name “Prostate”
(2) Alzo| Y : 2| dEM HAlsswE of|del I 97| dEM 50| & 22
02] Ao SH2| ALO[2] &2t ZAHE ZAISH AFZEM 9712 42 LY E0f I
Zp Ha0f Ofst ZE U MEE2 O3 2t
variable label
[cavol log(cancer volume), &2I|9| =2 17k
lweight log(prostate weight), &M 2AHQ| 27f
age age (L40])
lbph log(benign prostatic hyperplasia amount), @4 ZZM MZZO|
SAZOol =20gf
svi seminal vesicle invasion (d'd 2¢)
lcp log(capsular penetration), A4 UM =0 217t
gleason Gleason score (Z2|& £2|)
pgg45 percentage Gleason scores 4 or 5 (22|& £%|71 4 £= 52| HME)
lpsa log(prostate specific antigen), &M &2 20| 27}
library(lasso2)
data(Prostate)
str(Prostate)
#> 'data. frame': 97 obs. of 9 wariables:
#> § lcavol : num -0.58 -0.994 -0.511 -1.204 0.751
#> § lweight: num 2.77 3.32 2.69 3.28 3.43 ...
# § age : num 50 58 74 58 62 50 64 58 47 63 ...
#> $ lbph : num -1.39 -1.39 -1.39 -1.39 -1.39 ...
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#>  $ svi :nmum 0 000000O0O0O0 ...

#> § lep s num -1.39 -1.39 -1.39 -1.39 -1.39 ...

#> § gleason: num 6 6 76 6 6 6 6 6 6 ...

# $pggd5 :mum 00200000000 ...

#> § lpsa : mum -0.431 -0.163 -0.163 -0.163 0.372 ...

M
AL

3)

d
[

LHE

Ao

+ lcavol3 B84, LA 58 dEHS2 2 Sot0 LY HZHE LAITT.

(multiple linear regression, rigde regression, lasso regression, variable selection)
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A2

N
>
Ofm
N

OIStATO| 2|E FA2 S0| 0{8] HaE 7He| A Y S Ml L= Zd0|Ct 028t S4S
S5t7| floll AAst SA 24 = E HIZ 2 &3517| 0| 2 Mol EM (B, BEHAL
21 0|Az|9 22 {2 5)38 &L= of|H[EA (preliminary analysis) O] BFEA| ZL5iC}
Ol2{st M &3] 7|=E A8t (descriptive statistic) 0|2t E2|0{ T2 22 Crkst =72
S0[ AL,
= -

21 SHYMHE =L
211 SH &
nofo| =2 zy, -, x, O thet S4°| &= (measure of center) 2= 52t 22 XS0
QUCH HAY, HEHT (sample mean)2

1 n

i‘ = — {L‘.
n T

o2 LiEtHCH BE F7HZf (sample median)2 &3] @, 2 LIEIWD Ol A2 & 22
URE 2 USE LS T JHRC] 2I=ISH 20ICt 2ef At= 0| Tt E40|TH (n+1)/2
R Lo 2 FOIZ|R|C 2R O] JHpTt #pQl AR n/2 MR} (n/2) + 1#RY 2t29

29



w
o

A2y 7=

Y2 ALESICE AR E 22 URHE 2 U2 =2 LIEIME O ot 25%01 !I=Ist 22 Al
TARZ SIS (1st quartile)2totl 3] Q 22 HUEIUD, 52| 75% (49 25%) 01l 2|8
US HB3AZLIS (3rd quartile)2tstl 5] Q3 22 LEHHCH 22 =2|2 S22 A2
AHEQ]4: (2nd quartile) 2t ZtCH LBFH o2 52| 100 x p%, (0 < p < 1)0f siEs=
242 100 x p% &S (percentile)Ol2t £2Ct

S 22 S WOl AEot=0 Ot 22 F2/E 28Tt o S0], 11742
222 AME 2RI, 3,4,6,6,7,8,8,9, 10, 1522 Z0{H AYS ©f A2
(1+3+4+6+6+7+8+8+9+10+15)/11 =7 0| 2|1, SIS 1174 2=2|9 6HA gt
QI 70| I}, grek 2| ZOllM 712 2 gkQl 1571 15022 HhR|A| & S2H2LE W6t
O42|0, B2 19.27 2 HA|A| ot =, W2 0|43 (outlier) 0l Tl @12 (sensitive)
SEZ|H ST O14=|0f Mo FEFe 22| oA ECt (robust). TH2tA], 2A= 0]l O] &F2|7t
US B A= SHE UEH = U2 BN 20| 4§ E2 22t g & AUt

212 MEET

noiQ| B&2| xy, -, x,, O St AEO| 2= (measure of dispersion)= 27t 2410{ A
AOtLt 0| A A=A[E LEH=E SE2A 32 22 AS0| ULt A, 2224t

(sample variance)2

3

:1
O 2 LIEIHACEH BEHZT2} (sample standard deviation)= BEE2&A0| H&20 s =
Vs20|Ct, 1 2l0f AZof Cist 22 HERHQ| (sample range) 7t =4

R = max — min
FOR| 2 AL (interquartile range) =
IQR = Q3*Q1

—

O 2 Yo=|O] 0= A 3ALZ IS0 M A 1AHZ 2| 5~S M 2L0[Ct.
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il

OflA| - IOt QAC|AH 2= (Pima.te)OflA] O] 27| e (bp)oil CHEH A L MILE ASHE2}

Haed Xo A= 2z0 ofst S 2L A2 ofet R BHN = summary(X) £=
fivenum(X) € O|&5t0 fivenum(X) 2 Z&E2| min, @, Qy, @3, max 2| 5742 S
LIEFACE summary (X) & fivenum(X) O|A BEH 0| StLt O ZIHEICE DescTools
IH7|2|2| Desc (X) = CHYSt 7| A Zat T2 TS A S ST,

o

fivenum(Pima.te$bp)

#> [1] 24 64 72 80 110

summary (Pima.te$bp)

#> Min. 1st Qu. Median Mean 3rd Qu. Mazx.
#>  24.00 64.00 72.00 71.65 80.00 110.00

DescTools: :Desc(Pima.te$bp)

#> Pima.te$bp (integer)

#>
#> length n NAs unique Os  mean meanCI'
#> 332 332 0 36 0 71.65 70.27
#> 100.0% 0.0 0.0% 73.04
#>
#> .05 .10 .25 median .75 .90 .95

#> 50.00 56.20 64.00 72.00 80.00 88.00 90.00

#>

#> range sd wvcoef mad IQR  skew kurt

#> 86.00 12.80 0.18 11.86 16.00 -0.08 0.81

#>

#> lowest : 24, 30 (2), 44 (4), 46 (2), 50 (10)

#> highest: 100 (3), 104, 106, 108, 110 (2)

#>

#> heap (?): remarkable frequency (8.1}) for the mode(s) (= 70)
#>

#> ' 95)-CI (classic)
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22 A= X

24g0| B 22 2I0|Lf J2fE2 LEHD, S|IAE M (histogram), HE U5
(kernel density function), 27|- Z1& (stem-and-leaf-plot), #4212 (box plot) &
UCLE oM AFE3UE IO AT|A 2tZ (Pima.te) OlA O] 2t7] et (bp)oil CHEt 22
ATHEAL

A
-
0

=
=

## S|AE1=M (histogram)

Pima.te$bpOfl A= 3327 2=2|0f Ot S| AETH

par( c(2,2))

hist(Pima.te$bp)

hist(Pima.te$bp, 5)

hist(Pima.te$bp, T)

hist(Pima.te$bp, T, c(20,40,60,80,120))

## LU 5H (kernel density function)

TS

_I.

mmn

Pima.te$bp0 Q= 3327 2=2|0f| cist HE U =G Bandwidthe= Y& 5H4~0| I
= (smoothness) & LIEtUl= 222 AFZA7} R|ASHA| E’;,* ™ default2 F0{ZIC}

par( c(2,2))
plot(density(Pima.te$bp))
plot(density(Pima.te$bp, 1))
plot(density(Pima.te$bp, 5))
plot(density(Pima.te$bp, 10))
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Frequency

Density

0 20 40 60 80

0.015 0.030

0.000

Histogram of Pima.te$bp

— —T——
I T T T 1
20 40 60 80 100
Pima.te$bp
Histogram of Pima.te$bp
I T T T 1
20 40 60 80 100
Pima.te$bp

Frequency

Density

50 100 150 200

0

0.000 0.010 0.020 0.030

33

Histogram of Pima.te$bp

20 40 60 80 100 120
Pima.te$bp
Histogram of Pima.te$bp
I T T T T 1
20 40 60 80 100 120
Pima.te$bp

2% 2.1: 51403
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Density

Density

0.015 0.030

0.000

0.015 0.030

0.000

density.default(x = Pima.te$bp)

20 40 60 80 100 120

N =332 Bandwidth = 3.365

density.default(x = Pima.te$bp, bw = 5)

T T T T T T
20 40 60 80 100 120

N =332 Bandwidth=5

Density

Density

A2 JlssA

density.default(x = Pima.te$bp, bw = 1)

<
O
S
N
o
S
o
o S—
o T T T T T
20 40 60 80 100
N =332 Bandwidth =1
density.default(x = Pima.te$bp, bw = 10)
o
N
S
o
o
=
g
S
=
o
S _
S T T

o

50 100

N =332 Bandwidth = 10

07 2.2: HEUEES
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## AAF12! (box plot)

Pima.te$bpOil QU 3327 BH&2|0f Cft AIRf12. 4+ F oz & 5740 H
28 222 min, Qy, Qs, Q3. maz 2| 5712 22 LrErL_cr. o zte
2 0|42| (outlien & LIEIH ZHO 2 O|42|7t A= B o

mzn Qla Q27 Qg,ma.iIIOl 57|';{| 7;0 |'E|'L|_E|'

t(bar)= Ot2i=2
Qo2 FAIE 2

|42 Aele =

par( c(1,2))
boxplot (Pima.te$bp)

boxplot (Pima.te$bp, F)

° 8 - :
o - ' '
— i '
' o _| !
1 o ,
o _| ' '
<) o _| '

e

8 ! R 7
: o _| '
o | PR © '
< o :
o 0 i
p .

g 2.3t 4aad

## =7|-9 12! (stem-and-leaf plot)

Pima.te$bpOfl A= 33271 S 2[0f tigt 27|-2 2. AR 2 10| (7|
Z ()2 159 5 LIERHCE £, 24, 30, 30, -+, 1 9

t
2|9 TS &S LEHULD, 229l BES & 4= U= A0 SZ0|Ct.
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stem(Pima
#>

A2 JlssA

.te$bp)

#>  The decimal point is 1 digit(s) to the mright of the [

#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>

© © 0 0 YYD OO N W WD W

~
S

~
—~— — — — — — — — — — — — — — — — — — —

~
~

stem(Pima
#>

00

4444
66

000000000022224444

6666666885888888888
0000000000000000222222222222224.444444444444444444444444
5556666666666688858888888888888888
000000000000000000000000000222222222222222222222224.44444444444444444
556666666666666888888888888888888
000000000000002222222222224,444444444
55556666666666668588888888888888

0000000000002

8

0004

68

00

.te$bp, scale=0.5)

#>  The decimal point is 1 digit(s) to the right of the [

#>
#>
#>
#>
#>
#>
#>
#>
#>
#>
#>

© 0 X D AN W D

~
~ o~ — o~ ~—— ~— ~— ~— o~ ~

~
~

4
00

444466

0000000000222244446666666858888888888
0000000000000000222222222222224.4444444444444444444444445556666666666+9
000000000000000000000000000222222222222222220222224 44 444444444444444+26
000000000000002222222222224,444.44444455556666666666668588885888888888
000000000000248

000468

00
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2.3 O|HZ AtEQ} o2+

StLEC| HH40| CHEH AR 2 UHEF 12 (univariate data) 2t SH=C| 0|2 &+2510] 02
7Ho| B4~0f CiSH R} =2 E C} =
t

CHSt A}2, = 0|2k 22 (bivariate data) 2 2ok5t= 71X L ¢7H%_H:L

2.3.1 ZFH AR

B 25 2 Aizeti 7Y stal A #AR 2
c7lel HFE JHRICHA JHystat. 028 A= S W X =l
(contingency table)2t £ECt. 0| € S0, HAALZ (lung) Ml JE (sex)0l| THE =3 H 4
(ph.ecog)E= 2 x 6 RS HZA CS2t 2Tt

sex <- factor(lung$sex, 1:2, c("Male","Female"))

ph.ecog <- factor(lung$ph.ecog, 0:5, 0:5)

tab <- table(sex, ph.ecog); tab

#> ph.ecog

#> sex 0 1 2 3 4 &

#> Male 36 7129 1 0 O

#>  Female 27 42 21 0 0 O

addmargins (tab)
#> ph.ecog
#> sex 0 1 2 3 5 Sum

#>  Female 27 42 21 0

4

#> Male 36 71 29 1 0 0 137
0 0 90
0

#> Sum 63 113 50 1 0 227

round (prop.table(tab, 1)*100, 1) #option: 1=row, 2=column, null=total
#> ph.ecog

#> sex o 1 2 3 4 5

#> Male 26.3 51.8 21.2 0.7 0.0 0.0

#> Female 30.0 46.7 23.3 0.0 0.0 0.0
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A2

T (scatter plot)

¥ 22

.I

2
[ ]

F

A
(i)

(M

38
2.3.2
ni2| 0

i

i, Ct

ool St

fLto] gi4:

Mlof| UALE B THE et-2AIE E0IA] &

A4~ (Pearson’s sample

i

E2EM 0 BEE

= =
— T

AE LIEILY

tA| 4= (sample correlation coefficient)
correlation coefficient) =

=
o

LIEFACE A2A = AAILE -12F 1 ALO|2] gt =2 A -10] 7177t

= Zol= o 7[M

St=
o
=

ot

3|

= LIEHCE O17]A

olo

HEEA|, 2|2 0ofl 7t

(gnl
—

<0

3

o0
ol
oF

off 777t

FA (linear

tA|4= O 00| 77t

A

relationship) 0l Cist Zd0|Ct, =,
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r=-0.727 r=0.029 r=0.883
c)0 R g; © 50 S N ° 00 o
80 °o < °, - - @0@0
oo, e 54 80
8 o @& [ 90° o Y o ° 08 %00 ¥ °7 o e
- | ° 0. € ¥ Hoo *® 5y ° o ©o — O o
! 2 % ° 60 o Goo0%0 7 800 Jo
- ° . 0% o
o ] o o ° ~
@ o b o " oo
[ T T T T T T T T T T T T T T
-2 -1 0 1 2 -2 -1 0 1 2 -2 -1 0 1 2
x1 x1 x1
r=0.852 r=-0.097 r=0.081
1o °
© | Y 00 © o o~ M o
c ®°% o [
o, ® o°0 0 ) 09 0
< ° "o ° - @®. g9
c 7] ° o% 1 o ° 0&370
[\ ~ o o o - % ~ o 4 000
< g4 8 o o o o o oo
o o 9o ~ o <
SHe ¥ P . o, ¢ ~ o8 ©
N
N o © o H oo o
3 T T T T T T T T T T T T T T
-0.2 0.0 0.2 0.4 0.6 -2 -1 0 1 2 -2 -1 0 1 2
x1 x1 x1

OflAl - A= (lung) Ol M SARZ} EHESHE FHeZAT| M4 (ph.karno) 2t A7t THESH=
[¢)

FHe AT H4 (pat.karno) 2He| A Lot A2 A ~Z 5tHAL

plot (lung$ph.karno, lung$pat.karno)

## correlation coefficient
x1 <- lung$ph.karno; x2 <- lung$pat.karno

d <- na.omit(data.frame(xl, x2))

cov(d$xl, d$x2)/sqrt(var(d$xl)*var (d$x2))
#> [1] 0.5202974

cor(d$xl, d$x2)

#> [1] 0.520297/
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o O

T
06

- O

o
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0L 0S

ouJeyredgbun)

o
T

T
0g

60 70 80 90 100

50

lung$ph.karno

(spurious correlation and lurking variable)

tod 21 240[ 1= -10f 717k=

6]

S AL

<+

~d

<
Tl

Uk

oF
O

iloll

1 EAl9] w3| 2t

—
—

ds Y

10

&l

<
b

ny

2A == 10] 7477t
Hetfets 282 Wels A0l Btge7 dAZ O ZA|9] o1 (Z)7t

gl

<0

L=}

A &
F (spurious correlation) 0|2t

ar
Lo

A=
HFZ=

0l

foret “el+"et= =

o

tOH, O] (O 10y

5]

SleleH

ny

0]

1

St &

WIEN

|.

(a1
=

=

f

9|

&g o 10

59| e20] &
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o[t} 22
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LHEtLY

=

OlM 2
&+ Q| W20 &

A3

(]}
I

_

ud

=
-

0l

ot £ 22

ot

S|

22 (statistical inference) 0|2t

= 844

24
©

P

A (estimation) 2t 74 A A (test of hypotheses) 22 A1,

1

ol

A (point

=
-

FC}

[

ksl

02| 7|R| &%

estimation) 2t 2+ 24 (interval estimation)& 2|0

3.1

i
IH

[¢]]
i)
1100

%0
wjr

= o™

i O|F 01 2Lt 2=

g

At=0f 29

=
=

]

ZEE BE

ol
_z_l

K

o

=

2427}

o1
o
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A
—
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0
<!

3.1.1

(1) HIZ50[ A

i (Bernoulli trials) 0|2} BtCt

1o

(i) 2+ A2 M2 =7 0|ofof ict.

O[A| 2} 20| Al

o2 202/ X ~ B(n,p)2 B

X

~

t

s4ol2} 5

H| 20| Al

oJ
nl

LHr

LY, 0l M2

™ X ~ B(n,p)O0| EC},

5]

Yidt

n
1=

>

n=10; p = 0.2

x <= O:n

y <- dbinom(x, n, p) #B(n, p)

x)

barplot(y,

IH
<40

(2) =0}

ojnu

—te
1e)
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(c) B(10, 0.8)

0O 1 2 3 4 5 6 7 8 9 10

(b) B(10, 0.5)

C. ZOtS

0 1 2 3 4 5 6 7 8 9 10

5t

[exKe]
—_— -

5

121 3.1: 0]

I (Poisson distribution)& 2L}

=
v

(a) B(10, 0.2)

EAS
S

0 1 2 3 4 5 6 7 8 9 10

o2 7tA| 2%

21 IO}
220121, X ~ P(m)22 R

o

m
o

3.1,

o

| Ml ZHA|

20
==

ZHOR2 ¢}
A0l & 71 O 42| At

—

|5t

=
S

[e]
-

27|
o

=

=

(independence):
1’4 (lack of clustering):

=

=APS
|=NeJ
o)

F

—

i =

(ii)

OfH ArHO| ZLOtS EX

Ul

ol

(i) S (constant rate): B m

x)

x <= 0:10; y <- dpois(x, 1) #Pot (1)

barplot(y,
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_I_C-Di

44 M3 SAA
g HD: ffffff g :DD HDDD 8 :DDDH
(a) P(1) (b) P(5) (c) P(10)
J2l 3 2: LOotLE R
3.1.2 &Y EX
(1) d+&
A2 (Normal Distribution) = S 9| £8tZ0| &} HE8t2}Q1 7 (Johann Carl
Friedrich Gauss, 1777-1855)0i 2|slj A|Qt=|0] YEF 7+ ARt I (Gaussian distribu-
tion)O[2tr 5tH SEFUC =
1 (z —p)?
x) = exp(—
o) = ——eap(- 1)
o2 20{2|2 X ~ N(pu,0?) 22 LERHC}
(2) BEEHER
SEHS X7 A p, BA 02 S I Of
,_X—BX) X-p
Var(X) o
£ B35 B4 (standardized random variable) 2t £2Ct B231E Bias SHAFHA O,
2412 7RI Eok ol £01, X ~ B(n,p) Y U Z = 22l o] BRE 0, BAH2
np(l—p
10| 2T}, 220 A EotH
X _
X~N(po?) = 2=-—Ft
ag
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—‘|O|_|_ '

Y20, @4H2 10| ECh 7|, 0fR S 25 AME2 R R FR HFESE A|7|H
ol A| 24.,—.,L§£7f5|_ }E Helo|q ,Z ~ N(0,1)0 IE._“:f 023t At 2

=
f Ilﬂﬁgf T| H4 QJEE

tE 42 =20 2tA810] -3 _’P +3 A0|2] gtE 7HA = BRIt
HEZ20|C BEY Rl 2EX 112|9| HAO| akls AH2 &3] 2, 2 LIEHHEE =,
a=P(Z>z,)
9| HAE 7H2ICE
x <- seq(-3,3, 100)

y <- dnorm(x, 0, 0.5)

plot(x, vy, DILDY

@ _
o
© _
o

2

2 < ]

CDO

o
N
o
o |
o

gl 33: A%

RS 08310 X N (1, 0%) 2 HAE 0{2] 71| R8T HAH2 8 4 QICH 0|12 QI3 Y

o =
E8trE f(x), FHEE S (cumulative distribution function)& F'(z) = f_xoo f(t)de,
22484 (quantile function)= Q(p) = F~1(p), 0 < p < 12 B35 HAEE
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(normal distribution)& 2|0|5t= 242 nor LIEFL D 1 9f0i| Ol 22HE HE0|=
7tof et =Tt Fetrich Yegheol 22 4, FHAREESO| g2 p, 25T U
2 qE E0QIC} MY, HFEE2 BH Y (random numbers) & 245t AlS M= r2
£0|% EICt 0|2 S0, dnorm(1.6, 1, 2)= N(1,22)0|A f(1.6)2 AHlAtsH= 0|1,
qnorm(0.1, 1,2, lower.tail=T)2 N(1,22)0|A Q(0.1)E AHlAtsH= Z{0[CH O 7|A],
lower.tail® FAELO| 21F Me2|R & HA0| 0.10] ECt= A Q0J§ICt Rter 22
Z N|E29 HAO0 2f2 qnorm(0.1, 1,2, lower.tail=F) &

| 0.15= 2fl&s
=

gnorm(0.9, 1,2, lower.tail=T)

par( ")

x <- seq(-5,7, 100)

y <- dnorm(x, 1, 2); plot(x, vy, ")
y <- pnorm(x, 1, 2); plot(x, y, DL 0%

g - o
o
- © qgnorm(...)
3 g ooy
o
2 8 ¢4
B 34 g
a ‘—; g‘ T pnorm(...)
e} E ,,,,,,,,,,,,,,,,,,
S 5 o
e @] o
=1 o
o T
S) T T T © T T T
-5 0 5 -5 0 5
(a) E8YUEE4 N(1,22) (b) FHEXES pnorm, gnorm

dnorm(1.6, 1, 2); pnorm(1.6, 1, 2); gnorm(0.1, 1, 2); gnorm(0.9, 1, 2)
#> [1] 0.1906939
#> [1] 0.6179114
#> [1] -1.563103
#> [1] 3.563103
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3.2 HEQEX

321 D29l EA

542 = 20|
ZO|Ct QLtsIH DRUCIC2EE 2&£5 HE 2}
7

S =
37| nQ HES 7t 2E3t=Li0|| W2t Z2t2| 1D 0|5 HIZO2 Sl E A2 Lot HEO|
Of g 22| ALLt0]| et F2fr|7| WEO0[Ch Tets, SAZ2 2EE 7HAH =X 0|8

25T (sampling distribution) 0|2} £-2C}.

3.2.2 BEYHAS X

A7 nQ EE X, X,, -, X,
f Xy, X,,-, X, & Ye/HE (random sample)O|2t £ECt 2H 0| 10|12,
0 020l RYEORLE| 37|

X = LY X, o] vlcigtar 2are 242t

E(X)=p, Var(X) =0?/n

0| it &, X o HZMat= 5.d.(X) = o/,/n0| EC}.



48 A3 SAH=

oX

oy : 2B = 3, PEZH}

o
HEYHS A5t2}) 0|F r = 500 gtE e i B2Ha (7)2

=
1=
40
)
40
Sl
MU
_o'ﬂ
o]

mu=3; sigma=2;

n=4; r=500; set.seed(11); xbar = c()

for(i in 1:r){
x <- rnorm(n, mu, sigma) #N(mu,sigma 2)
xbar <- c(xbar, mean(x))

}

hist(xbar, T)

mu; mean(xbar) #Mean

#> [1] 3

#> [1] 3.006184

sigma/sqrt(n); sd(xbar)  #SE

#> [1] 1

#> [1] 0.9853343

n=4, Mean=3.01, SE=0.99 n=16, Mean=3.02, SE=0.77 n=100, Mean=3.01, SE=0.64

Density

00 02 04 06 08
Density

00 02 04 06 08
Density

00 02 04 06 08

xbar xbar xbar

(@) n=4 (b) n=16 (c) n=100

1335 BEERo| 21
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ZAM352| (central limit theorem) : 2 HFO0| 1 0|1, REA| 020 RRCIO2RE
Qo|BE X, X,,, X, S 22510 7ot EEER X = 1Y X, & HE9| 37| no|
2853 exwo; N(u, 2 )22E 27 €ch =, 0|2{3h AFNS BZ 5151

X-B(X) X-p _nX-BX,))
sd.(X)  o/yn s.d.(Xy)

AHSZ N(0,1)8 T2 Ect,

rr
ry

AT ZATHHRINN BRO 37| n S A% I4E O FRE| I710| £} £3,
n0| 25 A& O|40|H SAITHY 2 E 0|2l RS Ao = 2edA QT 22|= AoA
Y, )ol

;. Y, 0l N2 S0 H250] Algol2t6tn X = Y7 V231 X ~ B(n,p
Z, Y, Y, BRH Y E X /nt 20 O Yo 34352 S

X oon
o0 Mo
on
2

VY —E(Y) _va(E —p) _ (X —np)

s.d.(Y7)  Vp(l—=p)  /np(l—p)

7t 2ZAFH422 N(0,1) 2 T2 EIct. 0|2 O|8H2E 9| H#2AS} (normal approximation
to the binomial) 2} £2C} ¢, 2AE AR =2{% np > 15, n(l—p) > 15 5
VA 2Z10| BHZE|0{0F SHCt= AHEO| A QUL



p=0.5; n=30; r=500; set.seed(11); phat = c()
for(i in 1:r){
x <- rbinom(n, 1, p) #B(1, p)
phat <- c(phat, sum(x)/n)
}
hist(phat, T, 6)
p; mean(phat) #Mean
#> [1] 0.5
#> [1] 0.5026
sqrt (px(1-p)/n); sd(phat) #SE
#> [1] 0.09128709
#> [1] 0.09217863

n=10, Mean=0.50, SE=0.15 n=30, Mean=0.50, SE=0.13 n=100, Mean=0.50, SE=0.11

<« <« <«

» » o
2 2 2
N N 2 o
3 3 3
o o (=]

- - -

o o o

e B E— e B E— S E— E—
0.2 0.4 0.6 0.8 0.2 0.4 0.6 0.8 0.2 0.4 0.6 0.8
phat phat phat
(@) n=10 (b) n=30 (c) n=100

13 3.6: BEERO| BE (03RO YHIA
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324 (2%

o EX = 2017 29| EA St} William Sealy Gosset (1876 - 1937)2 Arthur
& Son (Dublin, Ireland) 2= 2R S|AF 22 = 1908F Student2t= LHOZ ¢
=

Guinness o
o d=ts| Maot™ Ch3a 2t

So
=X E A otstRC

Student’s t-220| Zo| : Uo|HE X, - X, O] AFEE N(u,0%)E G2 2L

X —
T— M

s/\/n
= 212 % (degree of freedom) n— 101 t-2XE 2 |0 T ~ t(n—1) 22 B3I},
07|M 2= (degree of freedom (d.f.)) & &3] HZX| O A2k ZHS| I4-E W A
o= Mg 4= Lt ol E S0, 3712 &= X, Xy, X5 7t US ©f OFF 2 A|<fo| giCtH
AAREE 3 — 0 = 30| Elch 5128k X = 30|2Hs HARHO| SiL RO{R|H AREE
3 —1 =27t &} t-B2EOM ARE7t nO| O n — 10| &= O|F= o T4l 2H%|Ql s
£ A2 1719 AREE ot Aoz siMe 4~ QUCt

par( ”l")

x <- seq(-3,3, 100)
y1l <- dnorm(x, 0, 1) #WN(0,1)
y2 <~ dt(x, 1) #t(1)

plot(x, yi, ")
lines(x, y2)
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52 A3y SAH =Y

S
o
@0 _]
o
>
=
Q N
$ o
)
|
o
o ]
© T T T T T T T

O 37:t-2%

3.3 dxd

FOI 2=t 37 nQl YoARE Xy, -, X, & U} 2Y5t0A} ot 245 B 49| Y=
LIEtUE= A2 A %3 (point estimation) 0|2+ 5t12, 0|21t 2tS F&= 84S M 24
A

(point estimator), 1 &40 XA Z2tS A & 2| (point estimate) 2t £2Ct,

~

Hol 1 OfE =4 00 CifSt A 23 0 = (X, X,,) 0l E(0) = 05 HZ51® 02 0

of| CHst 2 242k (unbiased estimator) 0|2} £2C},

CE

3.3.1 2HZ .0 ChEH A 43| X e

EX)=p, Var(X)=0?/n, s.d.(X)=0/\/n

0|22 X & pof tiet 8HZHZOICH 07|M, s.d.(X) = 0//nOlZ2U UA2 0 & 22
7| th20il othAl Do H 2HYR s = Vs? (F, B2 Ezmzf)% CHeJst 2t s/vng
Tt

20 s.e.(X) = s/\/n 22 LIE}

E
&

HE22} (standard error
Xo| E2majo| 24z|7} Elct,
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28 D45t E(s?) = 020| £l0] s22 520
M2 Var(s?) 2 23T0| 372EE 12
O {24 A O7|M = THRZR| Q7|2 ot}

UoAHE X, -+, X, 0| 432 & pQl HIZS0| A|HES THE H< poll TS H 2E A
H2BAS A8 Ol X = Zl , X;~ B(n,p)0|l22 25| ¥ 2¥2lep=X/n
oz H3sICt

~

D4 00f Cht 17 2 A= 12 (L(G), U () 2 20i21=], 24 00| CHt
(B0 <a< HARA2 P(LO) < <U@B) =1—a 2 =
| 0 = 0(X17 ’ 7X )9_| gt=0lLCt,

|’0||
o »—t
/:

|
)
X

(L(0),U(B))olct. o714, L(6) 2 U(0) & & 2= ,
a= Al2[42 (level of confidence)0|2} 3t0 23] 0.01 (99% AI2|7LZH, 0.05, (95%
AR|7ZH EE 0.1 (90% AlZ|2h ol kg 2 JIRICY,

3.4.1 28 pof chist M2[2H (EZ2] 32

CHEZ (=2 37| no| 2580 2 E9)S =IO 7HY0| gl
H? 28 pof Tt 100(1—a) % 412|722t = R e
CHEEQ! 2 2Hw poll thst 100(1 — a)% A A2|72te 4351 2|of 2l5tof

g chi ot
[tsts A2
=A

O] ZAHC2 N(0,1)8 =222 C}39 #5418 MEot= 7248 Alltste ot
X —u
Z < —FF=<z
a/2 U/\/ﬁ a/2
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X_ZQ/QL < p <)Zv—|_zo¢/2i

Vn vn
O] €lct. &, 2H= pof st 100(1 — )% ZAHA L2272

X:I:Za/2 °

&l

n

o HENS 71T 1ot 0 B BE FRO|E CHERO0[P I 233

w
1]
=2
1
rot
»
njo
>
o
gﬂ
2
|.|-|

0| 2AHOR N(0,1)2 202 BT 1of chat 100(1 — a)% 2AF Al2|722t

rlo

= S
Xiza/Q%

X+ Zo /2 s.e.(X)

UBrM o2 D4 Aofl TS W 2ARIS 02t 510 24 A0f| T 100(1 — )% 2AF A2
T

0+ Zajo s.e.(0)

oz @)
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Ol : RWR = 0, REEWH 0 = 10 RIYLOZ BE n = 30745 29|
FE5/T BEWRI 95% AIZTUS AL AR 2BZ 1 = 00] ZFTE
2| SOISAL 0|8 v = 100 B8 O RBR 1 = 00| HETeI0| EBE|E H|8S

mu=0; sigma=1
n=30; rep=100; set.seed(123); out=c()
plot(Inf, Inf, c(l,rep), c(-1,1)); abline(h=mu)
for(index in 1:rep){
x <- rnorm(n, mu, sigma) #N(mu, sigma2)
z <- gnorm(0.025, F) #Z.0.25 =1.96
m <- mean(x); se <- sd(x)/sqrt(n)
lower <- m - z*se; upper <- m + z*se
rst <- (mu >= lower & mu <=upper) #true or false
out <- c(out, rst)
lines(c(index,index), c(lower,upper), ifelse(rst, 1, 2))
}
out[1:5]
#> [1] TRUE TRUE TRUE TRUE TRUE
sum(out) /rep

#> [1] 0.95

Pl il
. m”‘mw‘\ HH\M

Trial Index

2 3.8: 2EZAO| s 95% 42|77 (CHER)
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56 M3y A 2
3.4.2 ZH|E pof Chst M2|72t (HEZ2| 3

BE X, -, X, 24839 &5 pol H2%0] Al&o[2 np > 15, n(l —p) > 15 &

0| 2APHS2 N(0,1)2 282 p = X /nol2t £¢

2oy < _pbp=pP
Vp(l—p)/n

O] £|11 O|Z pOofl Chall =&

| EIct, 21t 9lo P2 U 4 gl

T2t pE
AT O43| 2AHE G2 HE5tA| E|0] 2H|E pof| CHst 100(1 —a)% ZAH A2l zte
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oflal - §5&E p = 0.5Q ZYHC=Z FH HZ2F0] A|lS n = 508 HAlstD B28|S

1 95% 42|t ALttt A 2|F2Eeto 2B|F (p = 0.5)0] &&= A& &elstat.
O|Z r = 1008 gtEe nf 2H|E (p = 0.5)0] AI2|77tt0f| Z5te|= H[ES FoliEat.

p=0.5; n=50; rep=100; set.seed(123); out=c()
plot(Inf, Inf, c(l,rep), c(0,1)); abline(h=p)
for(index in 1:rep){
x <- rbinom(n, 1, p) #B(1, 0.5)
z <- gnorm(0.025, F) #Z_0.25 = 1.96
phat <- sum(x)/n; se <- sqrt((phat*(1-phat))/n)
lower <- phat - z*se; upper <- phat + z*se
rst <- (p >= lower & p <=upper)
out <- c(out, rst)
lines(c(index,index), c(lower,upper), ifelse(rst, 1, 2))
}
out[1:5]
#> [1] TRUE TRUE TRUE TRUE TRUE
sum(out) /rep

#> [1] 0.95

95% Confidence Interval
00 02 04 06 08 1.0
!

0 20 40 60 80 100

Trial Index

0% 3.9: 2H|S0| thst 95% 42|72t (CHEE)
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w
B
w
o
oH
EN
=
=2
o
rot
r=
M
-4
3
’|.;
fH
rH
oX
=N
o
i al
rfo
10
o
10

X —p
~ N(0,1
o~ VOD
0|22 BH u0f CiEt 100(1 — )% 42|27t

0|22 2HA n0f THEH 100(1 — )% Al2| 72+

= S
X+t o—
a/2\/ﬁ

o HEfZ 7tRICE

n <- 10; set.seed(123)

x <- rnorm(n) #N(0, 1)

## Method I

t <- qt(0.025, n-1, F) #t_0.025(df)

m <- mean(x); se <- sd(x)/sqrt(n)

lower <- m - t*se; upper <- m + t*se

c( m, z, se, lower, upper)

#> mean t se lLow high

#>  0.07462564 1.95996398 0.30161300 -0.60767036 0.75692165
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## Method II

t.test(x)

#>

#> One Sample t-test

#>

#> data: =

#> t = 0.24742, df = 9, p-value = 0.8101
#> alternative hypothesis: true mean %is not equal to O
#> 95 percent confidence interval:

#> -0.6076704 0.7569217

#> sample estimates:

#> mean of

#> 0.0746256

= 21RE n — 191 }0|AH|F (chi-square) X E T2H £ W ~ x3(n — 1) 22 LE}
L},

T2tA, 22402 0f TS 100(1 — )% AlZ| 22t
P 2
1 a-—AP[Xd_% <

0|22 0|2 o2 0 CHalA T

(n—1)s? (n—1)s?
( Xa2 | Xia )

2 2




o=z zojzlct,

n <- 10; set.seed(123)

x <- rnorm(n) #N(0, 1)

sd(x)

#> [1] 0.9537841

sd (x) *sqrt ((n-1) /qchisq(0.975, n-1)) #lower
#> [1] 0.6560462
sd(x)*sqrt ((n-1) /qchisq(0.025, n-1)) #upper
#> [1] 1.741238
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71 (hypothesis) 0|
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« Hj: 25t A2 28 (FF7HE  null hypothesis)
- H,  F5t0 A2 2 (714 : alternative hypothesis)

= Hy:p=10 vs Hy : p > 10

(2) BYSAHZS d=HTC
« BYSAF (test statistic) 0|2 2| F7H22| 7|4 OIFE 2=l AMEE= SAY
OS2 Of A 0M HH|Q| 2 gk n Ol et A 2 Y22 BEHF X E AL&SHe 20|
EtESiLt.
(3) 7192 24stct

- 7129 (rejection region) 0|2t AR 7+H0| 7|2t&l= YA 2 0| A2 2 O{H 3t

cofl Th5t0d X > ¢ 0| H, & 7|2k3HC} 07| A c= 71242 (critical value) 2t £2C+,
SAA 7HE0| CHE 78 22H 22 207t Lis A2 HF7HE2 tiEltd o AS
ZHEASIHELE 2F (error) 7t ZYEICHE Z40(C efiListP, 0= 7Hd0| QIR |= 22 & &=
o17| Wj20o|Ct. 0|2 B2 Fa|otPH Ch3at 2ot
=A7tel 24 Hy & H, 2
Hyg 7|2 H1E L7 SHE EF
HyS 7|12st2| 48 2HIE 23 A2 27

H1E LRE Yo #HES Ro4F (level of significance) 0|2t #20 F2 o2 EHE}

1A 2F 2FE LU &AES S2 LIEfHCE

+ o FARIH0| USOE BT HLIHUE J12GHE 228 Yo &S
S 712512 4= 228 Yo BE

B: HLIH0| SO BR5HD AL}
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« 1 — 388 (power of test)

Z|Ho| IMEBE 2 a B 25 2|ASHA7|= AY-O|X| 2 otek 2t=2 2| 37| n 0| HolilA
UCHH ol f BF 2|A86HE A E7Hs0ICh TEtA, 7Hs8 2|49 HEY2 a s 22
% (2351 0.01,0.05, £=0.1)22 DZAZ = HYH (1 - 5)S 2/Uh3t A7 = HEL22AM
0|5 YA2|ZAA (uniformly most powerful test) 0|2} SHC},

ROYFE ot FOHE O 7|ZH A Ltot= L-EH2 2 RIHESI0M HE A 2EE
7ot S R0 Y= 7|ZF g 2Yotoh 212 BH0M R+ aZl FOFES
7|1 ZtAE AlLkel At

— X — 10 c— 10
a=P[X >c]=P] ] P|Z > z,]

0|92 ¢ = z, £5+10 0] ECH BHFROUSF a = 0.057 FOUHCIR ¢ = 2082410 =
10.465 7} EIC} TetM, B2 S AYEA S X = 10.50|22 Q0|42 0.0501M 7}
HS 7|ZBICH 2, M2 s AEH|= RSA|2H0] 7|242]Q1 10.465A12H2CH 27| 20
7|2tdo &3t =, RIHE0| 7| 2tE| D2 R|£A|2H0| SOTHD & 4 Tt

412 welEE

TS0 CiEh Yol= T BYSAZYS 714A1717] 28t AHl1E 27| 2|2210|C,

(oll) {0l A o
95t 71zt X > 10.5,

1% 25E 242t

= 10. 5o||:|§ o| 7|-o| _%011:10 [[H _‘rl.lljjl»klo 7|7I-}\|9|7|
> 10.4, X > 10.3 S o§2{ 7127} 7hssict, o] S0 Cist

S ><'

X —10 - 10.5 — 10
2/v/50 2/v/50

X — 10 10.4 — 10
2/\/% 2/+/50

X — 10 10.3—10
2/\/_ 2/v/50

P[X > 10.5] = P|

| = P[Z > 1.768] = 0.038

P[X > 10.4] = P|

] = P[Z > 1.414] = 0.080

P[X > 10.3] = P[

| = P[Z > 1.061] = 0.145



64 M4z EAMEIMEHA
o] Elct. gols], 7|1ztde X > 10.50) i3t A1E 227491 0.0380| 742 2k20f 0] 240|
+2&E (p-value)O| EIC

(ROEE (p-value)oi| CHSH & 7HZ| AFAD

() ROIEHEO| H24E RIS 7|2ke 4 U HELAO| AT
(i) 20121 ROI4Z a0 HEIHO0| 7|2t = ROIHE ( Rol4Z
(ii) 20121 R4Z aOlM ATIHL0| He = QOIEE > Rol4E

- p-value < 0.05 : §2|g (significant) *
« p-value < 0.01 : O 2I&t (highly significant) *=*
+ p-value < 0.001 : O Z&5HA K2lgt (highly strongly significant) ***

4.2 o2 71| ¥ (22 FY)

421 4Bz 44

UHE A4 (one-sample test) 0|2t 5 7H2| ZTHO| A St 7He| 24~0] CHSt AYS 2|0|stc,
02 S0, o= 2T M 2 0f TSt 2, 2H|20|| Cist AY, = 224H0] cst A
0| 2Z40|C} =031 {27140l Thal CHE 7t 2| YEfof| et 7|2t el YElIt 2 =0,
21 HEfOf| 2} ch=2Hd (one-sided test)f 2 HA (two-sided test) 22 Li=CF,

(1) 28z poll tist 48 (HES) - 2E=E Z-848

Uo|EE X, -+, X, 0| B p, BA0?Q RO 2 RE 22|90 HE0| 37| no| 25
SO 2 WEES 71E6IAE SHA0| ChEt AHO2 PRI Hy = = pg Ofl CHEH0] 3717

o
SEfC| CHEIZIA0| 7ot O T2 7|24 0| SEf= Cr22f 20t 07| M HHEA L
Z = f/_\;%) 0|1 0|2 YHE Z-ZZA (one-sample Z-test) 0|2} FtC}
HE7H4 CHE 7+ 7|2+ il
Ho =t Hy: o> i Z>z, 22y
Ho s pp=po Hy s < pg Z < =z, Ch2 A



20 o EE 7HEStollM 28 pof thEt 100(1 — o) % A Al2)7zt

—

rlo

(2) DB pol Ot 2Y (LB, FRDYDH - YREL -2

HE20| 37|7} 2550} 22 ARE 3L UOlEE X, -, X, 0| FFLE N(i,0%) 2

THECHD JH5R} BHoF AR SOOI FTHREE 22| Y2 APE 4320 AKsHs

HI2AH WS AFSHOF BICH SHRO| et 2AHOR LI Hy « = pg Ofl CHHOY
X—

HEAZR t = X ojof o= AL}

7
[}
G| 0|2 YHE ¢t-Z4 (one-sample t-test) 0|2t

ofi

FC}.

r

HEHE tigste 7124 Bl
Hy: = py Hy:p> g t>t, °4=4d
Hy:p=pyg Hy:p < pg t < —t, °=4dd
Hy:p=p Hy o p# 2] >tay2 544




66 A 4.

OllA| - m|Of 2AC|A AtE (Pima.te) Ol A EH(glu) O] TH=0l 2R HEZ1 RO
7

a
=AIE S Estat = BEEYO0| 982 LA ALt

—

t.test(Pima.te$glu, 98)
#>

#> UOne Sample t-test

#>

#> data: Pima.te$glu

#> t = 12.7, df = 331, p-value < 2.2e-16

#> alternative hypothesis: true mean is not equal to 98
#> 95 percent confidence interval:

#> 115.9661 122.5520

#> sample estimates:

#> mean of

#> 119.259

(3) 242 poi| Cher A2 CHE=)

ASHE X, -, X, 2 ATl &85 pQl HI|25%0| A|340| D np > 15, n(l—p) > 155
ORZSICED 71y BICH 2H| 20 Cist AP 22 A RIHE Hy : p = p, Ol CH5H0] 37+2] HEY
o| ChE7Hdojl st 7|2t 2 Ci3t 2L AEEAYR Z =

-4 (one-sample Z-test) 0|2} ST},

p—p S
;7;?%; eldlp —'§:~X}/n

HE7H W% 7|2+ H| 2
Hy:p=po H, :p>p Z >z, SESIPY
Hy : p = po Hy:p<p 7 < —z, ES P
Hy :p=py Hy:p+#po 2] > 202 SEEE
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Of|A]| : M| &t2} 2ER (lung) Ol A] AP R} (status=2)= 228 = 165H(72.4%)0|C}t. 50%

death = as.numeric(lung$status ==2)

x = sum(death); x

#> [1] 165

n = length(death); n
#> [1] 228

p = x/n; p

#> [1] 0.7236842

prop.test(x, n, p=0.5, alternative="greater", correct=F)
#>

#> 1-sample proportions test without continuity correction
#>

#> data: <z out of n, null probability 0.5

#> X-squared = 45.632, df = 1, p-value = 7.136e-12

#> alternative hypothesis: true p is greater than 0.5
#> 95 percent confidence interval:

#>  0.6725643 1.0000000

#> sample estimates:

#> 4

#> 0.7236842

(4) 20?0l CHSH HY - FH0|AIS HY

AOJEE X, -+, X, 0| IFEE N(1,0%) 5 WECID 71612, B2 A0 Cfst ZAEo2
AP Hyy : 0% = o} 0f Th5t0f 3712| HEHC| CHRZIAO) CiSt 7|2t Cheat 2ct,
ZEEAZ 2 = (n—1)s%/02 & HRIILSI0IM AR n—1¢1 70| Z2E
o71M s = L 3°(X, — X)?olct.

i
a

v m
o n



68 A4y SAH 71284
HE7HE gt 712t Sj ]
L2 2 2 2 2 2 2
Hy:0° = 0§ H,:0°> 0§ X~ > Xa =4y
L2 2 . 2 2 2 2 =
H,: 0% =0} H,:0° <o} X° < Xi_a =44
L2 2 .2 2 2 2 =
H,:0°=0§ H,:0° # 0§ X" > X5 *=dY

2 2
X" < Xi_a/2
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70 A4 SAH7MEEY

HEIME Hy = g — g = po Ol THSH 37HA] HEHS| tiE7Hd 0l 7Hsstn 10 T2
2z

7|2keto] Sefi Cret 20| 2013 4 UCH AHEAZS

(X —Y) —pg
Z - 82 52
21 22
ny no

0|2 #F7HE St M 2AHH 22 BEEH=EE TEL.

SEbIE chHRl ot 7|24 Jin}

Hy:opy —pg=po  Hy:pg—pg > gy Z >z, H5g8d
Hy:opy —pg=po  Hy:pg—py < gy Z < =z, (EasRaRS
Hy : py — py = g Hy g — g F po 1Z] > 242 I588

s

(2) O|BEZ 2FT 2| 210[0f CHet A4y (282, 2y H) - O| B -43
H20] thet 71y (B4, S84, s=4Hd)
- X, X, N(up,0?) 2Eo| BE,
X= 2?211 X;/ny, 5? = ijll(Xz - 5()2/(%1 —1)
) Y17 Y, N(:u2ao-2) FEO HZ,
Y =302 Yi/ny, s5 =32 (Y, —Y)?/(ny — 1)

Hz2Ez2: XY
b
B(X —Y)=py —py, Var(X =Y) = 0(;- + ;)

= TRzl o N(0,1)

= %ﬁ ~t(ng +ny,-2)
P\ mn1  ng



42 O 712 3EY (24 YY) 71

—1)s?+(ny,—1)s3 . = - ) .
e s, = i Zflﬂfnfg 22 : SR ANARAH) : pooled variance
1 2

= iy — pg O THBH 100(1 — )% 412|712t

rlo

— - 1 1
(X_Y)j:ta/2sp ’I’L_1+’I’L_2

HEME Hy = iy — pg = po Ol B FA| &Efe| tig7tE0] 7S5t 10| e

7|2tei0| SEfE CHS T} 20| 2018 4 YLt HHEATS

=
ol
—_
L
w
d

t:<X_Y>_M0
1 1
Sp 1+_2

O =2 FOA|1 Ol HF/HE SHM A= ny + ny—29 -2 S HECH

HE7H tigzte 712+ S|l
Hy:py —po = 1o Hy oy — pg > g t>1, H5Ed
Hy:py = pio = pig Hy oy — pg < g t<—t, (EasRaRS
Hy iy — py = pig Hy s py — pg # 1o [t > to)o 544
1 BE0| Y, SEE2 UEStH SE4hY (homoscedasticity) & ZHE5HA| 8=
20| st 228 ASICE 2 0.5 < 51 /5, < 28 PHEEIH SEAHI0| S E T
1 IIHEE 2oLt 0] 2A

S OFE5t2| %o B 0|24 (heteroscedasticity) 7+ 5H0f| A
ME{AAQ|0|E 2 A} (Satterthwaite approximation)2 AL2SICH = C21p 2+ AHAIO]|
= 71510 O|HE t-AYS HAISHCL.

—

= (X Ylf (M; ) ~ t(v)
ny Ny
A7IM,
G+ 32)°
YT (ﬁ)l2_|_ 21 <S§)2
ny—1iny ny—13iny

oIC| H4:740| OFL|D2 HH22I5101 AFRBICY.



72 A4y SAHAHNMEEE

OffA] - T|Of AT A= (Pima.te) | M e 2 (type) Off k2t LtO| (age) Off 72I8F 2t0| 7t
UEAE YEAYSNR, SYRE -G UAFAHSEL T1).

t.test(age ~ type, Pima.te, var.equal=T)

#>

#> Two Sample t-test

#>

#> data: age by type

#> t = -5.3594, df = 330, p-value = 1.571e-07

#> alternative hypothesis: true difference in means between group No and group Yes 1is

#> 95 percent confidence interval:

#> -8.748356 -4.050508

#> sample estimates:

#> mean in group No mean in group Yes
#> 29.21525 35.61468

o4 -A %) SELt7H80| H=ste A

i
oy
o
ol
)

rr

var.test(age ~ type, Pima.te)

#>

#> F test to compare two variances

#>

#> data: age by type

#> F = 0.95078, num df = 222, denmom df = 108, p-value = 0.7461
#> alternative hypothesis: true ratio of wvariances is not equal to 1
#> 95 percent confidence interval:

#> 0.6795178 1.3057539

#> sample estimates:

#> ratio of wvariances

#> 0.9507776
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4.2. 0=l 712 HYE (24 ) /3

t.test(age ~ type, Pima.te, F)

#>

#> Welch Two Sample t-test

#>

#> data: age by type

#> t = -5.313, df = 209.68, p-value = 2.746e-07
#> alternative hypothesis: true difference in means between group No and group Yes is mnot e
#> 95 percent confidence interval:

#> =8.7T73874 —4.024990

#> sample estimates:

#> mean in group No mean in group Yes

#> 29.21525 35.61468

(3) MAH| 1 (matched pair comparisons)

At=271 4 (pain 22 H&2El=

QUE7}? OtATIRIO| g 2t

* D17 , D %I—Qlﬂg,EI'Di:Xi_Kaz:L y T

- BRYP D=3 " D;/n B2 ] =" (D, —D)*/(n—1)
- E(D;)=46,Var(D;) = %

7= 20 HER F2 A2 N(0,1)

AfEHe| Mt 29| TLIAV|E 7|=SIAULE A=32
M1 =0f 78k 2407t U=AE FEHYSHAL HHSEE (-FHS SAISHAL
pre = c(16.4, 10.3, 15.8, 16.5, 12.5, 8.3, 12.1, 10.1, 12.9, 12.6, 17.3, 9.4)
post = c(14.3, 9.8, 16.9, 17.2, 10.5, 7.9, 12.4, 8.6, 13.1, 11.6, 15.5, 8.6)
t.test(pre, post, T)
#>

#> Paired t-test
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#>

#> data: pre and post

#> t = 2.0947, df = 11, p-value = 0.06015

#> alternative hypothesis: true difference in means is not equal to 0O
#> 95 percent confidence interval:

#> -0.03297204 1.33297204

#> sample estimates:

#> mean of the differences

#> 0.65

(4) O|RZ 2B|=9| 2f0[0f it HY (HEZ) - O|EZ Z-8Y

—

2t=z9o| 2

= :p, —p 0l tist 22

oX

FHR| 1Dy —Poy Dy = X /0y, py =Y /g

Z

—

-
o

oX

E(fh _132) = D1 — D2, Va?"(fh _f?2) = nllpy) + p2(17p2)’

ny o

(P1—=P2)—(P1—Py) o
\/pi(lfil)_i_plg(ljw) Aoz N<O’ 1)

n1 n2

= \/@p))f’f’)) 9A| 2AH 22 N(0,1)

n1 n2

= p; — py Ol CEH 100(1 — o) % AL Al2| 722t

~ ~ p1(1—p Do(1—p
(pl_pZ):I:Za/2\/p1(n1pl) +P2(n2P2)

rlo
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HRIME Hy : py — py = po Ol TH5H0] 37t2| &ERe| Ch 70| 7tsstH 10 a2
712teio] SElE CHS T 20| ROt 4 Tt HYSAHYS Z = jgigpgjjf;gg”iﬁ oz
FO{R|L FF7HE Slo|M 2AHLZ BEEEH2E S HEL,

S ENY CHR 7 7|2t ol
Hy:py —p2 = po Hy:py—py >y Z >z, CEAHY
Hy:py—ps=pg Hy :py —py <pg Z < —z, =43
Hy:py —py =po Hy :py—py # po 1Z| > 24 UYZAHH

AH
A

F2t2E2 (Melanoma) Ol A A= (sex) O] 2t HIFOIE (ulcer) Of] 2t0|7} U=

M SEEE 2E2HYS LAISHAL

ofj A

S Y

Jlob
ORN
rtoh

™

=
(e |

oX
ol

sex <- factor(Melanoma$sex, 0:1, c("Male","Female"))

ulcer <- factor(Melanoma$ulcer, 1:0, c("Yes","No"))

tab <- table(ulcer,sex); tab
#> sex
#> ulcer Male Female

#>  Yes 47 43

#>  No 79 36
addmargins (tab)
#> sex

#> ulcer Male Female Sum
#> Yes 47 43 90
#>  No 79 36 115
#>  Sum 126 79 205
prop.table(tab, 2)*100

#> sex

#> ulcer Male Female
#> Yes 37.30159 54.43038
#> No 62.69841 45.56962
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prop.test(c(47,43), c(126, 79), correct=F)

#>

#> 2-sample test for equality of proportions without continuity
#> correction

#>

#> data: c(47, 43) out of c(126, 79)

#> X-squared = 5.7845, df = 1, p-value = 0.01617
#> alternative hypothesis: two.sided

#> 95 percent confidence interval:

#> -0.3098209 -0.0327549

#> sample estimates:

#> prop 1 prop 2

#> 0.3730159 0.5443038

chisq.test(tab, correct=F)

#>

#> Pearson's Chi-squared test

#>

#> data: tab

#> X-squared = 5.7845, df = 1, p-value = 0.01617
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23
i3

423 C}=HA

Ct2A4 (multiple hypothesis testing) 0|2t 37 O] Aro| 2 2ICHYY| TSt 71 ZHO|CH Ol E
=01, k7§ 2o RYF (£&= X&) 0| 25 2220 ChEt 4, =

Hy:py = pg == py,

Ol CHEAYOR HRIMO| V2t E 4
pig=)
—

7| ZFEICHE kKol Hel= l'f7 25 &

r A = A 2 H
WRo| 027k M2 T2 & x2|anztel 2j0j5 Baie () = d 320l 4 220 2j0l5
AH4HsHOF Bt 0I5 gl ( ) = d Aol 4 239l SAM2|TZ (simultaneous C.1.)
py — iy, 1 < J 2 ASHOL BICE A2| 770 02 E3H5IR & H2|B Tt 207} 928

LIEFLIR, A12|712H0] 03 ZEISHA| §f2™ & 2|2 at= 210|7F ASS LHEHHT

ey,
P(A; N Ay N Ay) = (0.95)3 = 0.857

=, A0 3712] Al2|77ts F5tH 1 Al2[== 0.9501A 0.8572 HOtRICt 0|F 2 etst
23l 2 M| ZL| 2-H (Bonferroni’s adjustment) 2 A25H=0| |22 Ct20t
2 =2|0f] 2HSICH YetH o2 dIfo SA|AZF#ZE Ay, A; 01 1 — a2 M2EE

27| 2ol 22l 2HZ L £5A! (Bonferroni inequality) & O|&gtCt.

N

my!

\J

l—a=PNL,A,)= PAC =1—dao*

|
—
|
3
C
@,g‘
-~
0
&M&

matM, a/dE o Al ALESHE @lste 1 — a9l ME|EE 2| =Lt o § 50,
of SAIMEIFZ (d = 3)0] 95% (5, g ]
o = a/3 =0.05/3 = 0.0167

tu
e
= e
ol
e
n
o
2
]
R
F

|
=
<
2



78 A4y SAHAH A

oY
oX

ot T Of 2470 otEl SAZR O SAYS 2XE Faliof =|=4| Ol tat 22

Ak (wt.loss)

d = na.omit(lung[,c('wt.loss', 'ph.ecog')])

y = d$wt.loss

group = d$ph.ecog

group = factor(ifelse(group >=2, 2, group))

tapply(y, group, function(x) sprintf("%.2f (7.2f)", mean(x), sd(x)))
#> 0 1 2
#> "6.00 (8.81)" "10.59 (14.18)" "12.67 (14.28)"

oneway.test(y ~ group, T)

#>

#> One-way analystis of means

#>

#> data: vy and group

#> F = 3.9847, num df = 2, denom df = 210, p-value = 0.02002
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pairwise.t.test(y, group, p.adjust = "none", pool.sd=F, var.equal=T)
#>

#> Pairwise comparisons using t tests with mon-pooled SD

#>

#> data: vy and group

#>
#> 0 1
#> 1 0.0235 -

#> 2 0.0036 0.4086

#>

#> P wvalue adjustment method: mone

pairwise.t.test(y, group, p.adjust = "bonferroni", pool.sd=F, var.equal=T)
#>

#> Pairwise comparisons using t tests with mon-pooled SD

#>

#> data: vy and group

#>
#> 0 1
#> 1 0.070 -

#> 2 0.011 1.000

#>

#> P wvalue adjustment method: bonferront

pairwise.t.test(y, group, p.adjust = "fdr", pool.sd=F, var.equal=T)
#>

#> Pairwise comparisons using t tests with mon-pooled SD

#>

#> data: vy and group

#>
#> 0 1
#> 1 0.035 -

#> 2 0.011 0.409
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#>

#> P value adjustment method: fdr

31

43 oz 712 24

20| AT}

ol g A

2l= AOM =
SHUCH HE=Z (n > 25)Q 32 Sd=etg2(of 2
L2HZEO0[EM Y2

o
L

i ZAFL2

9|

Ch 2B=0[BAM Y2

o
A

B9 t-=E & O|&dt

| i=3
=

2
(=

Cf Ch32t

3HH (nonparametric methods) S AF235H=

golct.

24 ut
2

zye 23l bl=s

3ol
A2t

T

HEHEIZHEOf Cst

=
xn

A

=g

1e)

LHo
J

=L

A2t B9

|..

ud
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M

AN E R

2 623 0|SAIZ! AOICt,
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i

e"s

I

:0>0

Hy:6=0 vs Hy

AHSS
A -

o
A

&0
|
oF
<K
4|

mr
ol

4.3.1

A4 (Wilcoxon

St
=

A A O
= &9l

mr

rank sum test) Azxf= Ct22} ZHCt
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A B A\ ! B A B A A
L [ ] L] [ ] L ] [ ] L ] ._
9 1 2 3 5 6 7 - 9
lH'. ';_r ;SJ
| B BAB A A A
- L] ® @ @& @ ] -3
=2 1 2 3456 7 8 9
(b) & <817} 5% A
0 4.2: H24H Y
(1) n=ny +ng7el EFZ|E A7|e02 LIS &9/ E ojzIct
(2) =g W, 2 AHlAtstot,
(3) CHEZ7HMof 2 7|2t ofehet ZLt.
CHElotAd 7|12t
H,: 23Ct AV} D3Ct Bo| 2% W, 2% 1|8
Ez)of 213
H,: 23T AVt DTk Bo| 1% W,el 22z ne|88
(R2Z)0] (=]
H,: 22|tto| MZ c}2Ct, W, 42 ne|ER0M 22 SES U2

IR g gyEAge st E=2

Wy —nyung+ng+1)/2

 Vnang(ng +ng +1)/12

= HR7H HyStollM 2A 22 N(0,1) 2ZEE Thact,

Ztq0l| Qs Y&t p-valueS AlLHE 4 AL B2 F7|7t E&3]

T2 ARt of5H
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Ol : ZYS O|A3 OIPAS Chiyo

U € SIS Hof BYUTH § 2

oz
IF w
r—r—
=

gl = data.frame( DAD c(31.8, 39.1))
g2 = data.frame( Dy c(35.5, 27.6, 21.3))
data = rbind(gl, g2); data

#>  group walue

#> 1 A 31.8
#> 2 A 39.1
#> 3 B 35.5
#> 4 B 27.6
#> 5 B 21.3

wilcox.test(value ~ group, data)
#>

#> Wilcozon rank sum exact test
#>

#> data: walue by group

#> W = 5, p-value = 0.4

#> alternative hypothesis: true location shift is mot equal to O

- JHQUIE=E 21F0n LERO| A[H 207t U=7F?
- OfAL|2IO| X Z8%F YO 2H0|= U=7F?
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- E(D,)=6,Var(D,) = 0%
_ D—§ o
- 4= SD/\/E:EHE%C.’_' B A2 N(0,1)
2 42e + ed oY CHEZ0| ot FR= H|Z242 HHg 2 AESHH 07| M =
258N B2 BES alstot
B3 HA (sign test)
IMEE Hy:0=0wvs H :6>02 BT 5 YLD (WAL Y= 0| what
0 < 00| & =), ool CHEt BEEAHZ S = Zi:1 I(D; > 0)Qd|ol& Dy,--, D,
SO|M o] S5 7121 Aol Ji7t Sk AR SHo|M I(D; > 0) & 439 && 1/2
ol H|25%0| A|gfo|22 S ~ B(n,0.5)0] EICt. wetA, 78S H82| && pE 0|8510]
BASIH Hy:p=1/2 vs Hy : p > 1/20| &2 0[0f CHF 7|2tH 2 HAGH ¢ (FO{2
RO&20i 2ol Haid) Chall S > c O|H HF7HdES 7|ZsHA =t BreF 22| 377t
S0 AW BESIAZ 2R A2 YRS A Eot S,
_S—n/2
n/4

= MRS Hysto|lM 2AH 22 N(0,1) 228 T2t
25224 Ad (Wilcoxon signed-rank test)

HAH| DO ThEt E CH2 |94 AYOR B389 AHS AJlsH=E| o= Ci2el Hjof

[mm]

Ofafi AlH=ICE.

(2) D; 2l Higks 27|&2 2 BiE5t0] &2/ & 07|12 siEste F2E 2QICt
(3) BEaQASAY T =" I(D; > 0)r(|D,]): ¥2l 2t8 2 D, § Z0lM D,
|.

1o

2|0f watM 7|zteig Tto| 22

=
2127], 0|2 2
O M2 L LO|M MHBICH Biof Hi2o| 37|73

—

_ Tt —n(n+1)/4
Vnn+1)(2n+1)/24

£ AR HystolM 2A22 N(0,1) 225 Thact,
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O : 1201219 OIRAS ChAOR ofB32| M $2| ZYAT)
U2

M =0f Foleh 24017t A=2AIE

pre = c(16.4, 10.3, 15.8, 16.5, 12.5, 8.3, 12.1, 10.1, 12.9, 12.6, 17.3, 9.4)
post = c(14.3, 9.8, 16.9, 17.2, 10.5, 7.9, 12.4, 8.6, 13.1, 11.6, 15.5, 8.6)

wilcox.test(pre, post, T
#>

#> Wilcoxzon signed rank exzact test
#>

#> data: pre and post

#> V = 62, p-value = 0.07715

#> alternative hypothestis: true location shift is nmot equal to 0

=T

HI
ujn

(xlay1>a"'7(xn7yn> :A-IEEE&’OLT’— 04_/—‘:_% 7|'Z|:|I

=
o0& HE2 MEA S (Pearson’s sample correlation coefficient)
o S -X)Y )
V(X = X025 V)

e« R, X, X, Z0IM X,0 &2

e SV, Y, EOIM Y0 &

AT| 0RO 22 AFZtA|4= (Spearman’s rank correlation coefficient)

_ S(R-R)(S-9)
V(R — B2 /5(S; - 5)2

SR, - (S )

n(n?-1)/12

Tsp

Tsp O CHEZ ZAt
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Vn —1lrgpe HRIHE HystoM 2AH22 N(0,1) 2EE THact.

Ofl4l : B7t =AMLt Bt Hotof M2t

[@ Q.

]
u
kJ

>
n

x1l <- ¢c(5, 2, 3, 1, 6, 4)
x2 <- c(47, 32, 29, 28, 56, 38)

rl <- rank(x1); ri
#> [1] 523164
r2 <- rank(x2); r2

#> [1] 53216 4

r_sp <- cov(rl, r2)/sqrt(var(rl)*var(r2)); r_sp

#> [1] 0.9428571

cor.test(xl, x2, method="spearman")

#>

#> Spearman's rank correlation Tho

#>

#> data: 1 and z2

#> S = 2, p-value = 0.01667

#> alternative hypothesis: true Tho is not equal to 0
#> sample estimates:

#> Tho

#> 0.9428571
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2 LBt o~ 20 olzfet AN Y 24O A S LEHFE e4E 785t=
20| A+9| 7t F& =HO0|C}. 0|28 &2 &3] S Al (artificial intelligence) Ol 2f

FE7|= it}

Olzfet et+E &3] 29 (model) 02t 20, 2Y0= 32 & 71A| HEHS| Z2HO0| ALt

-

(i) 284 (=4) 29 : input 2 output| 2tA7t 224{0] Fe+g

Y = f(Xlu"'aXp)

89
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- B =T KORE

< B[ =32+ 1.8 x M|

(i) EAZ 23 : outputO| inputol| 2|5 FakE Bh=

oX

32 0|0} AR|LE 232 Lutat

Y:f<X17"'7Xp>+€

1
. ¢§7|§%+=110+01x°d%§+015x =2 + €

Y : BF2 84 (response variable), 2£&B 4 (dependent variable)
- Xy, X, 3, B (covariates)
. €:22}5t (error term)

« f() : &H&=4 (regression function)

S|E™EE o /U0 St 20| 2FEL

() 2431 2H (parametric regression model)

o« 2MAHSHEY (multiple linear regression model)

f(Xq,, X)) = By + 81Xy + -+ B, X
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HIMES|H2F (non-linear regression model)

BoX

) = 5%

k-2t Ctat3|H 23 (k-th degree polynomial regression model)
F(X) = By + B X + Bo X2+ + B X"

« ZA|AEIFH2H (logistic regression model)

log(2—) = by +fr Xy +++ B,X,, p=P(Y =1), ¥ ~ B(Lp)
« 2MADH (log-linear regression model)

log(p) = By + By Xy + -+ B, X, Y ~ Poisson(u)
(i) 222 (nonparametric regression model) :
Sl Hete fo HEE A H 2= HAISHA| &1 A=20| 2AHSH g9 YRS

A LS H| 2432230 222 et AZ2Ql (smoothing spline), = ACHaS|

(local polynomial regression) S0| QUC}.

5.2 ZHARL A™HAR

5|ABHS PE37| U3k 20I2 ARE DE ARSI DHS HFHE 2 IR
OICH MRtk Y2 B2 A2 UKD HF0| AFBSHD LIDIZ ARE HEE BHDHO|
ACHR S| AIZSHT) ALRE 4 UCH 01X D] P20 AIRE ARE EUAR

Ct.

(training data), #&& 2Y& {2 2HO|M A|Hot=0| AFREl= AIRE AIYAIE (test

data)2t £ 2Ct. &3] A 22| 70% URIE &A=z, LIHZ| 30% LIS AlgAtz=2
AHE S},

e
[—)

0z
ox
H
Ir
ok
ol
=
J
ro
Wi
i)
o
o
A
fand
(@]
-]
@
o
>
Hu

NEARE 0|83t0 TEE 23| 42 =
RN EEE |5 EIZO| UYL} BISHRE (X,Y)), i =1, ,m,

(2

[e]
°
ABALRO| M40t BISWAZ (Z,,W,), j = 1, ,n2t 5101 j#IH oS 23t

ﬂJIﬂJ
oX
1o
][]
N
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OB ZFO|Z|=H| of7|M B|B40| 22| fy = SUNURO AT HO|Ch F, S22
AHAIZO| BHSEZ W ot ZHAAERE Y o Y40l A= 2FHSE

mho] M| fy(Z) 24| 2402 LEFHCY,

£

olz) 252 BlEsts A 5] 0[2{3 0|S23HS HT5H0] FHt G2 AT (sum of

squares of the prediction errors)2 AMYAZO| 742 L= 2f, =

n

SSPE =3 (W, ~ [x(2,)

J=1

AT

2 X2 ATt 0] 22 WA A28 (MSE; mean squared error)

MSE = E[(W — f(2))?]

o] 2Yxz|et & £ Tt =20l|lA &3] RMSE (root mean squared error) 2 E315t= 242
A2 vPEE Q0.

SHH, 5229 A& Chal ZUigtS 25t AMEstY| = ot 0| oS5+

M
(]
===
a\J

(sum of absolute of the prediction error) 2t 3t0 O|=

n

1 A
SAPE = EZ ‘Wj - fX(Zj)’

Jj=1

Hu
I
rol
o

4 Qe

5.3 M=

M2 (linear regression model) 0|2t AHHZL (covariates)E2| M AT (linear
combination) O] BFS# 4~ (response variable) S ¥ & 4= UCh= 7HEstol| MY E 28

ot =

4

Y =0+ 68 X1+ +6,X, + ¢



53, 92 93

A =
5 Total Error
g
§
Lo
g .
8
=
S
. £ .
<] g ; Variance
Ui E
E,ias2
= ==
s -
Model Complexity
03 5.1: 2A |, R¥0| By
S 1B 2OZ 24 7S CISH LT - VI BIgHA - X, X, MRS EE Zuigy
- €1 223 (error term) 22 3| N(0, 02) S WECt J1HE - B, By, o, By B AL
(regression coefficients) 2 2ZE|0{oFs 24 24 3, B, -+, 02 2 =A3517| 25 n

Mol A2 MEBICH =

[ v

}/;:/Bo—f—Blel—i—..._i_/Blep—i—El? i:l’...7n

A=E By, j=1,-,p et otH 3.2 X ;= Aleldt e SHYS0| 1Yo

- J
QAUCtE 71d oto] X7t of kel STt off BtaHo| 27HISE SiAe 4= UCE



94 M5 gAY

5.4 MEE2o| Hal

541 &

ogk

2|9

3|7 (ridge regression)= Hoerl and Kennard (1970)01| 2|3 A4/ Q=0 ol Cht

=
o
CRIESEEN SR

N olr

6(6) = (X'X + 1) X'y (5.1)

S AHgSHE 22T 071M 0= Y42 M 2HEI0{0F 8 240|101 £5| |24 (biasing
—
=)

parameter) E= 2422 (shrinkage parameter) 2t 3tC 532 20| 010|C|0{+=, 00|
I 22| A4 Ui 20t st Of7[0f HEst F4E ColfFH O H4Es YR =
Zo|ct

232 f(0)7t 24 02 TEHEtn YODR, AT 2 W27t &/7| M

= 0
Z el BTt A2 ZAHHOI= of2] 71R|7t AH|QtE| U0 CHSO| T 77| B g AJNSICE

(2) GCV,

GCVy= Wahba, Golub and Heath (1979)7t A|Qtst Q8IS mat&kol (GCV; gener-

alized cross-validation) 22

GCVy = Ze?ﬁ / [1 — %tr(He)]z

2 HO|EIC) Of7|M, €, o= 07} FOIHS Tl 2210|1 Hy = X(X'X + 01) 71X’ o|ct,
GCVy= PRESS, o Wds 227t 9lo0, GOV, 2 2|43} 5t= 02
Bt
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5.4.2 LASSO

LASSO (least absolute shrinkage and selection operator)+& Tibshirani ( 1996) 0] 2|35}

AHQhel HO| 29| ot YOI ChEt Z2 S7I0|M A= ALt A, B dEl2 3
H

= 71

M3t 22 2™ S ASSHAIT 0|4 by (§Y Haot 2| HEIE 20 e 7Lt
HAHEE 2HY) 22 Qo HSFO| 02 ASICE SH, sYS e F45H Y (BY BeE
IFAZ|AL HAAZ = Y 2E2|9] 2he 44172 2HE) 22 EO oY H0[2]2h B

al 172l

or
ok
]
X
o
2
40
ol
=
3
i
or
ok
tou
]
1o
=y
=2
=
rot
=
1L
PN
[
o 0
]
ogl
2
=
[\

_‘
o
(93]
—
=.
N
[t
(@]
S

=

u
=

p
B = arg;mn(y—XﬁY(y—Xﬁ) sty 16;1<s
=1

J

p
= arg;m’n(y—XB)’(y—Xﬁ) +AD 1Byl
j=1

O FORICH O7|A, st A= LY = O SStH= 0] A|e] 24010 53|l Ho|R24R

2 2Z|0{oF & Zro|ct

S83|7| MO D40t 20{2 M M7} AIO R 20{2| 2|0 LASSO A= 57t 2012

Hete Ao 2 HES 4 ¢l CHE0| QUCH LASSOE £3517| 25t 02 &2|S0| 7hee
Qo Lt 1 20| A<= LARS (least angle regression)2t= & 12[20| 714 F Ot A2

u
v
2
£0
|0

0f Ol= R I§7[R[Of| M AtE 7}-SSHLE.
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5.4.3 Elastic Net

Elastic net2 Zou and Hastie (2005)0f| 2|3 A2t H, Ol& 5EHS|F2t LASSOS]|
JIE2HAS 5t HENE JtRICH =, elastic net 28 2| =

P p
arggm'n(y —XB) (y —XB) + A\ Z 1Bj1 + A Z B3
j=1 Jj=1

o= FO{A=t| &3] )\1 =1 —>\2 7+45to] sle| B2 4= SASHAHL,  LIOZEAM

fol

Of| : ML 2t2P2t=Z (Prostate) Ol M Ipsa (A EM &H £+=F2| 21f) S PHE¥ 4, age
(LtO]) & 2,2t ShA} Tes| 720 At 2t

[

## Prostate data

library(lasso2)

data(Prostate)

str(Prostate)

#> 'data. frame': 97 obs. of 9 wariables:

#> § lcavol : num -0.58 -0.994 -0.511 -1.204 0.751 ...
#> § lweight: num 2.77 3.32 2.69 3.28 3.43 ...

#> $ age  : num 50 58 74 58 62 50 64 58 47 63 ...
#> $ lboph S R =Hodl) =H.&8) =d.89 =i.& <i.&9 ..o
#>  § svi cmum 0 000000O0O0O0 ...

#> ¢ lep s nmum -1.39 -1.39 -1.39 -1.39 -1.39 ...

#> & gleason: num 6 6 76 6 6 6 6 6 6 ...
# $pggi5 :mum 00200000000 ...
#> $ lpsa :num -0.431 -0.163 -0.163 -0.163 0.372 ...
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## correlation

cor(Prostate[, c('lpsa','age')])
lpsa age

#>
#> lpsa 1.0000000 0.1695928
0.1695928 1.0000000

#> age

## simple linear regression

fit <- Im(lpsa ~ age, data=Prostate)

summary (fit)
#>
#> Call:
#> lm(formula = lpsa ~ age, data = Prostate)
#>
#> Residuals:
#> Min 1Q Median 3@ Maz
#> -2.90738 -0.71234 0.06967 0.66187 2.99584
#>
#> Coefficients:
#> Estimate Std. Error t wvalue Pr(>/t/)
#> (Intercept) 0.79906 1.00793  0.793  0.4299
#> age 0.02629 0.01568 1.677 0.0968 .
#> ——=
#> Signif. codes: O 'xxx!' (0.001 '*x' (0.01 'x' 0.05 '.'" 0.1 ' ' 1
#>
#> Residual standard error: 1.144 on 95 degrees of freedom
Multiple R-squared: 0.02876, Adjusted R-squared: 0.01854
p-value: 0.09677

#>

#> F-statistic: 2.813 on 1 and 95 DF,
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## scatter plot and fitting line

plot(lpsa ~ age, data=Prostate)

abline(fit, col=2)

Ipsa

age

## coefficients and 95% Cl

#summary (fit)$coef

cbind(coef (fit), confint.default(fit))

#>

2.5 7 97.5 )

#> (Intercept) 0.79906015 —1.176443790 2.77456409

#>

age

0.02629454 -0.004431546 0.05702063

## anova table

anova(fit)

#> Analysis of Variance Table

#>

#> Response: lpsa

#> Df Sum Sq Mean Sq F walue
#> age 1 3.679 3.6791

#> Residuals 95 124.239 1.3078

D ===

#> Signif. codes: 0 'xkx*x' (0.001 '¥*'

Pr(>F)

2.8133 0.09677 .

0.01

l*l

0.05 '.

AS5Y. 22

0.1 " "1
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## goodness-of-fit

#names (summary (fit))

cbind(

summary (fit) $sigma,

summary (fit) $r.squared,

summary (fit)$adj.r.squared,

AIC(fit),
BIC(fit))

#> RMSE R2

adj_R2 AIC BIC

#> [1,] 1.143579 0.02876173 0.01853817 305.2808 313.005

## model diagnostics

par( c(2,2))
plot(fit); #dev.off()

Residuals vs Fitted
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Fitted values
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o
o
° o
o
o
o
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S0
o
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20 22 24 26 28
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Standardized residuals

Standardized residuals
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-2

Normal Q-Q
3950

Theoretical Quantiles

Residuals vs Leverage

e 095 940 1o

B ©ook®distance
T T T T 1
0.00 0.04 0.08

--105

Leverage

99



100 A5 32
## predicted value

pred <- predict(fit)

pred <- predict(fit, "confidence")
head(pred,4)

#> fit lwr upT

#> 1 2.113787 1.624536 2.603038

#> 2 2.324144 2.030093 2.618195

#> 3 2.7/4856 2.35/202 3.135511

#> 4 2.324144 2.030093 2.618195

## predicted value of new data

x <- seq(40,80,by=5)

y <- predict(fit, data.frame( x))
plot(lpsa ~ age, Prostate)
lines(x, vy, "o, 2, 20, 1.5)
6
o - o
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o° 0 95000 Og o 0o
g [l o o0 O@ og 8 o
TN > © 0 8@2620080
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o o o
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u
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N
Ul
e
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[

## pairs plot and correlation

pairs(Prostate); cor(Prostate)

[32]
Icavol
7
© A4 A= P
- Iweight @ M i
o
alalL :
g
s
Ibph
7
S
-
o
o
N
7
o
(2]
o
©
8
o
<
o
03 5.2 gt Shxfat=0f| ciet A ol
H 5.1 AL SRAL= 0] Tt o 2tAH| 4
[cavol Iweight age lbph svi lcp gleason pgg45s Ipsa
Icavol 1.00 0.19 0.22 0.03 0.54 0.68 0.43 0.43 0.73
Iweight 0.19 1.00 0.31 0.43 0.11 0.10 0.00 0.05 0.35
age 0.22 0.31 1.00 0.35 0.12 0.13 0.27 0.28 0.17
lbph 0.03 0.43 0.35 1.00 -0.09 -0.01 0.08 0.08 0.18
svi 0.54 0.1 0.12 -0.09 1.00 0.67 0.32 0.46 0.57
Icp 0.68 0.10 0.13 -0.01 0.67 1.00 0.51 0.63 0.55
gleason 0.43 0.00 0.27 0.08 0.32 0.51 1.00 0.75 0.37
pgg4ds 0.43 0.05 0.28 0.08 0.46 0.63 0.75 1.00 0.42
Ipsa 0.73 0.35 0.17 0.18 0.57 0.55 0.37 0.42 1.00

101
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## multiple linear regression

fit <- Im(lpsa ~ ., data=Prostate)

summary (fit)

#>

#> Call:

#> Im(formula = lpsa ~ ., data = Prostate)

#>

#> Residuals:

#> Min 1  Medzan 30 Mazx
#> -1.73316 -0.37133 -0.01702 0.41414 1.63811
#>

#> Coefficients:

#> Estimate Std. Error t walue Pr(>/t])

#> (Intercept) 0.669399 1.296381 0.516 0.60690

#> lcavol 0.587023 0.087920 6.677 2.11e-09 **x*
#> lweight 0.454461 0.170012 2.673 0.00896 x*x*
#> age -0.019637 0.011173 -1.758 0.08229 .
#> Lbph 0.107054  0.058449 1.832 0.07040 .
#> svt 0.766156 0.244309 3.136 0.00233 *x*
#> lep =0.105474  0.091013 -1.159 0.24964

#> gleason 0.045136  0.157464 0.287 0.77506

# pggi5 0.004525 0.004421 1.024 0.30885
#HON———

#> Signif. codes: 0 'xxx' 0.001 '¥x' 0.01 '¥' 0.05 '.' 0.1 ' ' 1
#>

#> Residual standard error: 0.7084 on 88 degrees of freedom
#> Multiple R-squared: 0.6548, Adjusted R-squared: 0.6234
#> F-statistic: 20.86 on 8 and 88 DF, p-value: < 2.2e-16
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#i# coefficients and 95% Cl
cbind(coef (fit), confint.default(fit))
#> 2.5 7% 97.5 %
#> (Intercept) 0.669399027 -1.871461587 3.210259641
#> lcavol 0.587022881 0.414702115 0.759343647
#> lweight 0.454460641 0.121243105 0.787678177
#> age -0.019637208 -0.041535382 0.002260966
#> lbph 0.107054351 -0.007504234 0.221612936
#> svt 0.766155885 0.287318079 1.244993690
#> lcp -0.105473570 -0.283856721 0.072909582
#> gleason 0.045135964 -0.263488720 0.353760648
#> pgg45 0.004525324 -0.004140039 0.013190686

## anova table

anova(fit)
Analysis of Variance Table
Pr(>F)

#>
#>
#> Response: lpsa
#> Df Sum Sq Mean Sq F walue
#> lcavol 1 69.003 69.003 137.4960 < 2.2e-16 ***
#> lweight 1 5.948 5.948 11.8529 0.0008833 x***
#> age 1 0.420 0.420 0.8369 0.3627907
#> lbph 1 1.069 1.069 2.1302 0.1479844
#> svi 1 5.952 5.952 11.8594 0.0008806 x**x*
#> lcp 1 0.129 0.129 0.2576 0.6130570
#> gleason 1 0.707 0.707 1.4097 0.2382955
#> pgg4b5 1 0.526 0.526 1.0477 0.3088513
#> Residuals 88 44.163 0.502
#> ——
0 '"xxx' 0.001 '**x' 0.01 '*'

#> Signif. codes:

0.05 '.

"0.1

!

!

1
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## goodness-of-fit

#names (summary (fit))
cbind( summary (fit) $sigma,
summary (fit) $r.squared,
summary(fit)$adj.r.squared,
AIC(fit),
BIC(fit))
RMSE R2 AIC

# adj_R2

#> [1,] 0.7084164 0.6547535 0.6233674 218.9525 244.6996

## model diagnostics

c(2,2))
plot(fit); #dev.off()

par(

BIC

Residuals vs Fitted Normal Q-Q
N " ™
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Scale-Location Residuals vs Leverage
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## predicted value

pred <- predict(fit)

pred <- predict(fit, interval="confidence")

head (pred)

#> fit lwr upT
#> 1 0.8744063 0.47937891 1.2694337
#> 2 0.7240557 0.35807267 1.0900388
#> 3 0.5437102 0.02460792 1.0628124
#> 4 0.5842042 0.19187151 0.9765369
#> 5 1.7214934 1.45811454 1.9848722
#> 6 0.8072678 0.40089705 1.2136385

## predicted value of new data

## new data

#summary (Prostate)

x <- data.frame(
lcavol = 1.35,

lweight = 3.6,

age = 63,
lbph = 0.1,
svi = 0.2,
lcp = -0.17,

gleason = 6.7,
pgg4b = 24.38
)
predict(fit, x)
#> 1
#> 2.455/
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# B MEH (subset selection method)

IMERR, S A Y, THAEIFH O Cis ATHBHCE

r

## variable selection method
m_null <- Im(lpsa ~ 1, Prostate)

m_full <- Im(lpsa ~ ., Prostate)

### forward variable selection

fit <- step(m_null,

list( formula(m_null),

"forward", F)

### backward variable elimination

fit <- step(m_full, "backward",

### stepwise variable selection

fit <- step(m_null,

list( formula(m_null),

"both", F)

### Stepwise variable selection

#> Start: AIC=28.84

#> 1psa ~ 1

#>

#> Df Sum of Sq RSS AIC
#> + lcavol 1 69.003 58.915 -44.366
#> + svi 1 41.011 86.907 -6.658
#> + lcp 1 38.528 89.389 -3.926
#> + pgglb 1 22.814 105.103 11.783
#> + gleason 1 17.416 110.502 16.641
#> + lweight 1 16.041 111.877 17.841

A 5 &

3=

formula(m_full)),

formula(m_full)),
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#> + 1lbph 1 4.136 123.782 27.650
#> + age 1 3.679 124.239 28.007
#> <none> 127.918 28.838
#>

#> Step: AIC=-44.37

#> 1lpsa ~ lcavol

#>

#> Df Sum of Sq RSS AIC
#> + lweight 1 5.948 52.966 -52.690
#> + svi 1 5.237 53.677 -51.397
#> + 1lbph 1 3.266 55.649 -47.898
#> + pggdb 1 1.698 57.217 -45.203
#> <none> 58.915 -44.366
#> + lcp 1 0.656 58.259 -43.452
#> + gleason 1 0.416 58.499 -43.053
#> + age 1 0.003 58.912 -42.370

#> - lcavol 1 69.003 127.918 28.838
#>
#> Step: AIC=-52.69

#> 1lpsa ~ lcavol + lweight

#>

#> Df Sum of Sq RSS AIC
#> + svi 1 5.181 47.785 -60.676
#> + pggdb 1 1.949 51.017 -54.327
#> <none> 52.966 -52.690
#> + lcp 1 0.837 52.129 -52.235
#> + gleason 1 0.781 52.185 -52.131
#> + lbph 1 0.675 52.291 -51.935
#> + age 1 0.420 52.546 -51.462

5

#> - lweight 1 .948 58.915 -44.366
#> - lcavol 1 58.910 111.877 17.841

#>
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#> Step: AIC=-60.68

#> 1lpsa ~ lcavol + lweight + svi

#>

#> Df Sum of Sq RSS AIC
#> + 1lbph 1 1.3001 46.485 -61.352
#> <none> 47.785 -60.676

#> + pggd5 1 0.5735 47.211 -59.847

#> + age 1 0.4025 47.382 -59.497

#> + gleason 1  0.3890 47.396 -59.469

#> + lcp 1 0.0641 47.721 -58.806

#> - svi 1 5.1814 52.966 -52.690
5

#> - lweight 1 .8923 53.677 -51.397
#> - lcavol 1  28.0446 75.830 -17.884
#>

#> Step: AIC=-61.35

#> 1lpsa ~ lcavol + lweight + svi + lbph

#>

#> Df Sum of Sq RSS AIC
#> + age 1 0.9593 45.526 -61.374
#> <none> 46.485 -61.352
#> - 1bph 1 1.3001 47.785 -60.676

#> + pggdb 1 .3533 46.132 -60.092

#> + gleason 1 .2125 46.272 -59.796
#> + lcp 1 .1023 46.383 -59.565

#> - lweight 1 .8013 49.286 -57.675

g N O O O

#> - svi 1 .8063 52.291 -51.935

#> - lcavol 1 27.8299 74.315 -17.841

#>

#> Step: AIC=-61.37

#> 1lpsa ~ lcavol + lweight + svi + lbph + age
#>

#> Df Sum of Sq RSS AIC
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#> <none> 45.526 -61.374
#> - age 1 0.9593 46.485 -61.352
#> + pggd5 1 0.6590 44.867 -60.788
#> + gleason 1 0.4560 45.070 -60.351
#> + lcp 1 0.1293 45.396 -59.650
#> - 1bph 1 1.8568 47.382 -59.497
#> - lweight 1 3.2250 48.751 -56.735
#> - svi 1 5.9517 51.477 -51.456
#> - lcavol 1 28.7666 74.292 -15.870
## Best subset selection
library(leaps)
fit <- regsubsets(lpsa ~ ., Prostate)
#names (summary (fit))
R2 = summary(fit)$rsq
adj_R2 = summary(fit)$adjr2
BIC = summary(fit)$bic
Cp = summary(fit)$cp
Icavol | Iweight | age | Ibph | svi | Icp | gleason | pgg45 R2 adj_R2 BIC Cp
1(1) * 0.54 0.53 -66.05 | 24.39
2(1) * * 0.59 0.58 -71.80 | 14.54
3(1) * * * 0.63 0.61 -77.21 6.22
4(1) * * * * 0.64 0.62 -75.32 5.63
5(1) * * * * * 0.64 0.62 -72.76 571
6(1) * * * * * * 0.65 0.63 -69.60 6.40
7(1) * * * * * * * 0.65 0.63 -66.47 7.08
8(1) * * * * * * * * 0.65 0.62 -61.99 | 9.00
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# 2 A=A (shrinkage method)

N

MElMet 2128 5835|7, LASSO, Elastic net0f] 2 &HstCt

library(glmnet)
x = model.matrix(lpsa ~., data=Prostate)[,-1]
y = Prostate$lpsa

## lambda: tuning parameter

grid=10"seq(-3, 3, length=100)

set.seed(1234)

## alpha: Ridge=0, Lasso=1, Elasticnet=0.5

cv <- cv.glmnet(x, y, lambda=grid, alpha=0, standardize=F,
type .measure="mse")

bestlam = cv$lambda.min

## coefficients
fit <- glmnet(x, y, lambda=grid, alpha=0, standardize=F)

beta <- coef(fit, s=bestlam)

## predicted value

pred <- predict(fit, x, type="response", s=bestlam) [,1]

par (nfrow=c(1,2))

plot(fit, xvar="lambda", col=1:8)
abline(v=log(bestlam), col=2, 1ty=2)
legend("topright", colnames(x),

col=1:8, text.col=1:8, 1lty=1, bty="n")

plot(cv)
title(sub=paste("Best Log Lambda = ", round(log(bestlam), 2)))
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12l 5.4: LASSO regression
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12 5.5: Elasticnet regression

B 5.2: Coefficients of linear regression

Variables LSE Stepwise | Ridge | LASSO | Elasticnet

(Intercept) | 0.669 0.951 1.065 | 1.167 1.212
Icavol 0.587 0.566 0.564 | 0.560 0.558
Iweight 0.454 0.424 0.370 | 0.342 0.328

age -0.020 | -0.015 | -0.017 | -0.014 | -0.014
lbph 0.107 0.112 0.106 | 0.095 0.096
Svi 0.766 0.721 0.477 | 0.422 0.391
Icp -0.105 -0.031 | 0.000 0.000
gleason 0.045 0.018 | 0.000 0.000
pPgg45 0.005 0.005 | 0.005 0.005

H 5.3: MSE of linear regression

LSE Stepwise | Ridge | LASSO | Elasticnet
44163 | 45526 | 45.191 | 45.768 | 46.042
df 8 5 8 6 6
MSE | 0.496 0.495 0.508 | 0.503 0.506
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5.5 EZA|AE 37=2Y

SHSE LI HAY HAY 0 SHESHEM S 0|ESHAIY OJYE R FR0e 2~
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5.5.2 ROC=H4

ostH o] 7t 225t 4 F2| Stit= SHEE T (diagnosis) O[Tt =2[2| Ha3lE 2ol
RITH2 S 712] (Ee| RF)2 O|F0{2ICt 7HY ST &5] Ol A= B E positive, Sle
B2 E negativeZ LIEIHCE 2|20 2ICto|2t A2 YO| Qe Z0 JACkDD T (TP
- true positive, 2151, g= A0 QICtD THCH (TN - true negative, 212)8 SHES
z|CH3tote Z0|Ct S, A2 HO| gl Z<0 U T (FP - false positive, 1Y)t
U= B0l ATt THEF (FN - false negative, ¢13) e &&S z|43l5t= A0|Ct. 0[218
Ae2 VM dE L SYoICh FPE A1E 23 (HF7HE0] 230l 245t HRIMEE
21X | 2F)2 SY5t, FNE A2& 23 (70| 230 2ot CHEIHEE
7|1ZEAZ| 2] Qb= 2F)0f sEEICt

A AE (true state)

2M7te| 234 positive negative
positive TP (true positive) FP (false positive)
negative FN (false negative) TN (true negative)

O|S HIE2= T3t 22 02 7tA| 7HEol| CHEt ¥olS 2K stet.

rot

- DIZLE (sensitivity, recall) = TPR (true positive rate, 212&) = TP / (TP + FN)

« E0|% (specificity, selectivity) = TNR (true negative rate, 2188) = TN/ (TN +
FP)

- FHE (prevalence) = (TP + FN) / total

« HET (accuracy) = (TP + TN) / total

« AHO|ZE = PPV (positive predicted value) = TP / (TP + FP)

« 2M40|&Z5 = NPV (negative predicted value) = TN / (TN + FN)

- QYHE =FDR (false discovery rate) = FP / (TP + FP) = 1- PPV

Ol2{st 7HE 2 Bl = 2[HRICHE MElist= o= ROC =M (Receiver Operating
|

ol
rir

=
i
=

Characteristics curve)2 A70SHCEH O] 342 H2I0| ROCQ! Fa2i= 19414 A|2xF MA|
CHA SFA| 20| £=417] (radar receiver)E 28510 (operator) Ot} A=E F+&26t=
(binary classification) 22 A%l Z10|2f 3t ROC FM49| Y& QIZE (TPR), X&2
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## Pima.te data

library (MASS)

str(Pima.te)

#> 'data. frame': 332 obs. of &8 wariables:

#> ¢ npreg: int 6113250139 ...

#> $ glu : int 148 85 89 78 197 166 118 103 126 119 ...

#> § bp :ant 72 66 66 50 70 72 84 30 88 80 ...

#> § skin : int 35 29 23 32 45 19 47 38 41 35 ...

#> $ bmi : num 33.6 26.6 28.1 31 30.5 25.8 45.8 43.3 39.3 29 ...

#> $ ped : num 0.627 0.351 0.167 0.248 0.158 0.587 0.551 0.183 0.704 0.263 ...

#> $ age : int 50 31 21 26 53 51 31 33 27 29 ...
#> § type : Factor w/ 2 levels "No","Yes": 21 12222112 ...

## pairs plot

pairs(Pima.te)



60 160

10 50

0.0 2.0

1.0 1.8

A5 22

(2}
o
=
[o2}
o
=
o
a1
o

1.0 18
1111

(¢]

™
Lol
FYEYES

10

40

60

bmi

20

g
and

ol &

WEFY T

A% P -

4 o

ELE

— O

N

type

oo — D — il s annn
0 10 40 20 60 20 60

1 5.6: O|0f QIC| 2t 4= 0f| Chist LM HFE



5.5. Z2Z|AE 32
## multiple logistic regression

fit <- glm(type=="Yes" ~ ., data=Pima.te, family=binomial)
summary (fit)

#>

#> Call:

#> glm(formula = type == "Yes" ~ ., family = binomial, data = Pima.te)
#>

#> Deviance Restiduals:

#> Min 1 Medzan 30Q Mazx

#> -2.9647 -0.6582 -0.3608 0.6158 2.4646

#>

#> Coefficients:

#> Estimate Std. Error z wvalue Pr(>/z/)

#> (Intercept) -9.514019  1.229278 ~-7.740 9.98e-15 **x*

#> npreg 0.140944  0.059652 2.363 0.01814 *

# glu 0.037481  0.005558 6.743 1.55e-11 **x*

#> bp -0.008675 0.012589 -0.689 0.49076

#> skin 0.013167  0.020025 0.658 0.51084

#> bmi 0.078951  0.028432  2.777 0.00549 **

#> ped 1.110131  0.446921 2.484 0.01299 *

#> age 0.018055 0.018359 0.983 0.32537

#> ——

#> Signif. codes: 0 'xxx' 0.001 'xx' 0.01 '*' 0.05 '.' 0.1 ' ' 1
#>

#> (Disperstion parameter for binomial family taken to be 1)
#>

#> Null deviance: 420.30 on 331 degrees of freedom
#> Residual devtance: 285.79 on 324 degrees of freedom
#> AIC: 301.79

#>

#> Number of Fisher Scoring tterations: 5
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## OR and 95% CI

cbind(exp(coef(fit)), exp(confint.default(fit)))

#>

#> (Intercept) 7.380982e-05 6.
#> npreg 1.151360e+00 1.
#> glu 1.038192e+00 1
#> bp 9.913625e-01 9
#> skin 1.013254e+00 9
#> bmt 1.082151e+00 1
#> ped 3.034757e+00 1
#> age 1.018219e+00 9

## AUC and 95% Cl

library (pROC)

2.5
633623e-06
024320e+00

.026943e+00
.672010e-01
. 742552e-01
.023497e+00
.263874e+00
.822328e-01

y = as.numeric(Pima.te$type=="Yes")

pred <- predict(fit, type="response")

(roc.fit <- roc(y, pred, ci=T))

#>
#> Call:
#>
#>
#>
#>

#>

## cut-off value

rets =

Area under the curve:

roc.default (response = y, predictor =

0.8686
95% CI: 0.8294-0.9078 (DeLong)

97.5
0.0008212541
1.2941558991
1.0495640454
1.0161276318
1.0538144046
1.1441673147
7.2869197427
1.0555242956

pred, ci = T)

Data: pred in 223 controls (y 0) < 109 cases (y 1).

C("threShOld", Iltpﬂ, |Ifnll’ llfpll’ Iltnll,

AS5Y. 22

ppv™,

out <- coords(roc.fit, x=seq(0,1,by=0.2), ret=rets, transpose=F)

"sensitivity", "specificity", "accuracy", "npv")
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E 5.5: Sensitivity and Specificity
threshold | tp fn fp tn | sensitivity | specificity | accuracy ppv npv

0.0 109 0 223 0 1.000 0.000 0.328 0.328
0.2 95 14 81 142 0.872 0.637 0.714 0.540 | 0.910
0.4 77 32 33 | 190 0.706 0.852 0.804 0.700 | 0.856
0.6 57 52 14 209 0.523 0.937 0.801 0.803 | 0.801
0.8 32 77 4 219 0.294 0.982 0.756 0.889 | 0.740
1.0 0 109 0 223 0.000 1.000 0.672 0.672

## optimal cut-off value

coords(roc.fit, "best", "youden", F)

#> threshold specificity sensitivity

#> 1 0.2709196  0.7668161 0.8440367

## ROC curv
par( c(1,2))
plot(roc.fit, TRUE, c(0.1, 0.1))
plot(roc.fit, "best", c(0.1, 0.1))
= = 0.271 (0.767, 0.844)
z S 2 3
B AUC: 0.869 (0.829-0.908 3
33 3 3
Sl T T T T T T Sl T T T T T T
1.0 0.8 0.6 0.4 0.2 0.0 1.0 0.8 0.6 0.4 0.2 0.0

Specificity

%l 5.7: ROC =4

Specificity
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## variable selection method

m_null <- glm(type=="Yes" ~ 1, Pima.te,

m_full <- glm(type=="Yes" ~ ., Pima.te,

### forward variable selection
fit <- step(m_null,
list( formula(m_null),

"forward", F)

### backward variable elimination

fit <- step(m_full, "backward",

### stepwise variable selection
fit <- step(m_null,
list( formula(m_null),

"both", F)

#i## Stepwise variable selection

#> Start: AIC=422.3

#> type == "Yes" ~ 1
#>
#> Df Deviance AIC

#> + glu 1 325.99 329.99
#> + bmi 1 386.84 390.84
#> + age 1 394.44 398.44
#> + skin 1 395.98 399.98
#> + ped 1 399.79 403.79
#> + npreg 1  401.55 405.55
#> + bp 1 410.44 414 .44
#> <none> 420.30 422.30
#>

AS5Y. 22

binomial)

binomial)

formula(m_full)),

F)

formula(m_full)),
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#> Step: AIC=329.99

#> type == "Yes" ~ glu
#>
#> Df Deviance AIC

#> + npreg 1 311.02 317.02
#> + bmi 1 312.49 318.49
#> + age 1 314.87 320.87
#> + skin 1  315.16 321.16
#> + ped 1 317.52 323.52
#> + bp 1 323.88 329.88
#> <none> 325.99 329.99
#> - glu 1 420.30 422.30
#>

#> Step: AIC=317.02

#> type == "Yes" ~ glu + npreg
#>
#> Df Deviance AIC

#> + bmi 1 294.54 302.54
#> + skin 1 301.07 309.07
#> + ped 1 303.72 311.72
#> <none> 311.02 317.02
#> + age 1 310.08 318.08
#> + bp 1 310.16 318.16
#> - npreg 1  325.99 329.99
#> - glu 1 401.55 405.55
#>

#> Step: AIC=302.54

#> type == "Yes" ~ glu + npreg + bmi
#>
#> Df Deviance AIC

#> + ped 1 287.44 297.44
#> <none> 294 .54 302.54
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#> + age 1 293.35 303.35
#> + skin 1  293.93 303.93
#> + bp 1 294.28 304.28
# - bmi 1 311.02 317.02
#> - npreg 1 312.49 318.49
# - glu 1  364.90 370.90
#>

#> Step: AIC=297.44

#> type == "Yes" ~ glu + npreg + bmi + ped
#>

#> Df Deviance AIC

#> <none> 287.44 297.44

#> + age 1 286.73 298.73
#> + skin 1 286.96 298.96
#> + bp 1 287.23 299.23
#> - ped 1 294.54 302.54
#> - bmi 1 303.72 311.72
#> - npreg 1 304.01 312.01
#> - glu 1 349.80 357.80

## Shrinkage method

library(glmnet)
x = model.matrix(type=="Yes" ~., Pima.te) [,-1]

y = as.numeric(Pima.te$type=="Yes")

## lambda: tuning parameter

grid=10"seq(-4, 3, 100)

set.seed(1234)
## alpha: Ridge=0, Lasso=1, Elasticnet=0.5

cv <- cv.glmnet(x, y, grid, 0, F,
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family="binomial", type.measure = "auc")

fit <- glmnet(x, y, lambda=grid, alpha=0, standardize=F, family="binomial")

bestlam = cv$lambda.min

## coefficients

beta <- coef(fit, s=bestlam)

## predicted value

pred <- predict(fit, x, type="response", s=bestlam) [,1]

par (nfrow=c(1,2))

plot(fit, xvar="lambda", col=1:8)
abline(v=log(bestlam), col=2, 1ty=2)
legend("topright", colnames(x),

col=1:8, text.col=1:8, lty=1, bty="n")

plot(cv)

title(sub=paste("Best Log Lambda = ", round(log(bestlam), 2)))
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13 5.8: Ridge logistic regression
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12! 5.10: Elasticnet regression
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H 5.6: Coefficients of logistic regression

Variables | Logistic | Stepwise | Ridge | LASSO | Elasticnet
(Intercept) | -9.514 -9.552 -9.493 | -1.019 -1.021
npreg 0.141 0.178 0.141 | 0.022 0.023
glu 0.037 0.038 0.037 | 0.006 0.006
bp -0.009 -0.009 | -0.001 -0.001
skin 0.013 0.013 | 0.001 0.001
bmi 0.079 0.084 0.079 | 0.012 0.012
ped 1.110 1.166 1.079 | 0.126 0.137
age 0.018 0.018 | 0.003 0.003

H 5.7: AUC of logistic regression

Logistic | Stepwise | Ridge | LASSO | Elasticnet
AUC | 0.869 0.867 0.868 | 0.868 0.868

2] =3 B Mg
1 Yllv Y12> » S 1ng _1 Z?:ll( _1)2
2 Y217Y22> 7}/2n2 2 Z;Zl( 2)2
k Ykl? Yk27 ) Yknk _k: Z <Yk’j )2
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HeES GRS ZH2 22|21

2} 210 20| 7t Q=AIS 2z

AS5Y. 22

4512} 5t 240|Ch,

OlA : 4272 2 2YYO| ARZ 0| 0]2= S

2| =3 B e
A 10, 15,8,12,15 12 38
B 14,18, 21,15 17 30
C 17,16, 14,15,17,15, 18 16 12
D 12,15,17,15,16, 15 12 38

c k=4 n=5+4474+6=22,Y =15

- SEIZYYO| Tt

2|22 00| =

M EES| C21010| 222 ULALAEM DS (One-way ANOVA model &&= One-way
classification model) 2 Eafl O|F0{ZICt ECt FAHHLZ,
. Y. D BB 22| e ol jeHR) 2=t
o« g HA A2l =2 el gk (24)
. e~~N(OU) kg (4Y Q== £&2)
SH T Hy g = pp = = 1y, S B
a <- data.frame( Dg® | c(10, 15, 8, 12, 15))
b <- data.frame( "b", c(14, 18, 21, 15))
c <- data.frame( gl c(17, 16, 14, 15, 17, 15, 18))
d <- data.frame( "q", c(12, 15, 17, 15, 16, 15))

data <- rbind(a,b,c,d)

## Mean (SD)

tapply(data$value,

data$group, function(x) sprintf("}.2f (7.2f)", mean(x),

sd(x)))
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#> a b c

d

#> "12.00 (3.08)" "17.00 (3.16)" "16.00 (1.41)" "15.00 (1.67)"

#bozplot (value ~ group, data)

## Test for Homogeneity of Variances

bartlett.test(value ~ group, data)

#>

#> Bartlett test of homogeneity of vartiances

#>

#> data: wvalue by group

#> Bartlett's K-squared = 4.123, df = 3, p-value = 0.2485

## Test for Equal Means

oneway.test(value ~ group, data, var.equal = T)

#>

#> UOne-way analysis of means

#>

#> data: wvalue and group

#> F = 4.3404, num df = 3, denom df = 18, p-value = 0.01814

summary (aov(value ~ group, data))

#> Df Sum Sq Mean Sq F value Pr(>F)
#> group 3 68 22.667 4.34 0.0181 *
#> Residuals 18 94  5.222

#> ——=

#> Signif. codes: O 'xx*x' 0.001 '#*' 0.01 'x' 0.05 '.' 0.1

!

!

1
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Xt =) (Vi = n(Yi/n)(Y 3/n))* [n(Y; [r) (Y ;/n)
Z0{2|0f 0] FHESHE ARIMLBIM ARE (r— 1)(c — 1)Q x* 2EES w2t
n

Oflx]| : SMZ Sxf2t= (Melanoma) 0lAl S (sex) Of et ML (ulcer)Off 2t0|7t U=
A E LY2HYSIAL SHEE DHEHY E= 0[S HYS HAISHRL

sex <- factor(Melanoma$sex, 0:1, c("Male","Female"))

ulcer <- factor (Melanoma$ulcer, 1:0, c("Yes","No"))

tab <- table(ulcer,sex); tab #
#> sex

#> ulcer Male Female

#> Yes 47 43

#>  No 79 36
addmargins (tab) #

#> sex

#> ulcer Male Female Sum
#>  Yes 47 43 90
#>  No 79 36 115
#>  Sum 126 79 205
prop.table(tab, 2)*100 #
#> sex

#> ulcer Male  Female
#> Yes 37.30159 54.43038
#> No 62.69841 45.56962

prop.test(c(47,43), c(126, 79), correct=F) #
#>

#> 2-sample test for equality of proportions without continuity
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#> correction

#>

#> data: c(47, 43) out of c(126, 79)

#> X-squared = 5.7845, df = 1, p-value = 0.01617
#> alternative hypothesis: two.sided

#> 95 percent confidence interval:

#> -0.3098209 -0.0327549

#> sample estimates:

#> prop 1 prop 2

#> 0.3730159 0.5443038

chisq.test(tab, correct=F)

#>

#> Pearson's Chi-squared test

#>

#> data: tab

#> X-squared = 5.7845, df = 1, p-value = 0.01617
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end of study
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0|

Arg et

42| AS T2517| 95 245 5N O 2IHAIH 2

distribution) 2} 2F0| & X (Weibull distribution)O|C}, ZOM2 20| SHEUL S

r&"
AT
H
o

)\CM
t) = tele M >0, A>0
f< > I\(a> b b
o2 ROA =M o = 1Q BVt HIZ A|+ZIX0|CH ZHOE2E| A2 e 8 a4+ L ¥=
Ste= Alo2 B & 4= QICt (does not have closed form expressions).

S(t) = exp(—(At)™) IH| 0|2 BE{ A(t) = aA(At)* !

o2 EHEIC 2Lo|E B MRF40| 21-27 WEHS 50

log[—logS(t)] = a(logt + log))

0|22 log[—logS(t)] 2t logto| A7t HBOZ Z0i2|3 etol2 BHO| 70| SSS Y
= UL
2L X (Rayleigh distribution)= A4 /88 RLEE)S ME 82 &6 A
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At) = g+ M\t

o2 71t HQIE 0|2 SE MEF4}

—

£6) = Qg+ M) exp(—dot = )

§HH, 21-H7 2 (log-normal distribution) = 42 A|Z2te| 27,01 logT 7t &2
N(p,0?)8 WE2CHD 7423t H0|Th, 0|2 BEf MZF4E

st =1-a(2 =1,

EICh 2A-H B2 4EARE B HES = YR E R J1YSIE R 0 eS|

YEEO| ZEE JHYSHA| S BI24A Y- EAQ 2YR(Z IS E-00[0] Y3

(Kaplan-Meier estimator) & AZi5tC},

7|30 MojA 22| (Y}, §,), i =1,---,n0 27| £22 L}H=|0] YTt 512}, =

Y1 S Y < <Y,

o2 J}Hstn ZEHASE 0[9} L&A ZOIHCID 7H5HAE, OfA| SE AT 2| o2
BE3| (2, AlZ0] YojLt BR)S £ M2 HA| o BE2ISe| W4T} kojet om o)1=

7—1<7—2<"‘<Tk
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7}Z2+-010[0f 22| S(t) Q] BAN| CiEt 2% %|2 55 1212E A (Greenwood's for
mula)
70 = Var(5(t) = S Y ——
Jiri<t n](nj o da)
A0

2 FZ AESICH A2 S 4=
53(t) = S(1)? s
s (n—j)(n—j+1)

—

o2 FOfRILh o7|M, Bt fioF gk d2 ¢7t 00f| 747k2 2rolALt O 2 20
AZ|F24t0] (0,1) & BiofLt t. OIS Tlst7| fisl 2 E (logistic

transformation)O|Lt 21-2 71 Hats

:
[

L
o I
i}
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oA : SAZ S22t = (Melanoma) S O|85t0] dZet+E ZFSHAL
library(survival)

fit <- survfit(Surv(time/365.25, status==1) ~ 1, Melanoma)

## survival table

out <- summary(fit, seq(0,5, 1))

H 6.1: Survival table

time | n.risk | n.event | surv lower | upper
0 205 0 1.000 | 1.000 | 1.000
1 193 6 0.970 | 0.947 | 0.994
2 183 9 0.925 | 0.889 | 0.962
3 167 15 0.849 | 0.800 | 0.900
4 160 6 0.818 | 0.766 | 0.874
5 122 9 0.769 | 0.712 | 0.831

## Kaplan-Meier curve

#plot(fit, conf.int = T)

#library (survminer)

#ggsurvplot (fit, data=Melanoma)

6.2.3 Z21-&9 3%

S U= BRLOA M2 N AT I AEA| ZOHET| 2ol S2F HA|

—
FOAE2R L o8 ot dS0= SYAE Fostl HHA| ot A50= /<t
o
=
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Survival probability

1.001

0.751

0.50 1

0.251

0.00+

Strata All
0 3 6 9 12 15
Time
Number at risk (humber censored)
205 (0) 167 (8) 83(72) 38(111)  7(141) 1 (147

12l 6.2: Kaplan-Meier curve
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20| 2% 141
2t HRIME S AYsts Aot 2 SEET 22| AR 7t UO| AFEL|= AYHe=
21-#2 A4 (log-rank test) 0| Y=H| 0|= &3] Mantel test, Mantel-Cox test, £=
Cochran-Mantel-Haenszel test S22 E2|2Ct.

OlA] : SAZ 2t2f2t= (Melanoma) Ol A ulcer (HIF0R)0f TS AZ 42| 210]0j| st
20-2% 39 2t L3 20

fit <- survfit(Surv(time/365.25, status==1) ~ ulcer, data=Melanoma)

## log-rank test

survdiff (Surv(time, status==1) ~ ulcer, data=Melanoma)

#> Call:

#> survdiff(formula = Surv(time, status == 1) ~ ulcer, data = Melanoma)
#>

#> N Observed Ezpected (0-E) 2/E (0-E) 2/V

#> ulcer=0 115 16 35.8 10.9 29.6

#> ulcer=1 90 41 21.2 18.5 29.6

#>

#> Chisq= 29.6 on 1 degrees of freedom, p= 5e-08

## Kaplan-Meier curve

#plot (fit, col=1:2, lty=1:2)

#library (survminer)

#ggsurvplot (fit, data=Melanoma)
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Strata == ulcer=0 =+ ulcer=1

1.001
2 0.75-
=
©
o]
o
S 0.50+
IS
=
&
2 0.251
« p < 0.0001
0.00+
0 3 6 9 12 15
Time
Number at risk (number censored)
115 (0) 107 (3) 53 (48) 24 (75) 4 (95) 1(98)

90 (0) 60 (5) 30 (24) 14 (36) 3 (46) 0 (49)

12l 6.3: log-rank test
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SOl 2 £0{5t 12 (treatment group) Q| MZ8H4E S.(1), /22 £045 2 E (control

group, saline group) 2| &5 S (t) 2t 5HAL A9 S0t 0|2 E HTsH= HY2R

20-&9 4EE 2Nt 2ot AH ez 2t T159| St median survival time) 2t

& (hazard rate) & H|wot= SAHZ0| 0 RE5tH At AGECEH S m2
S(m)=10.5

times ratio) =

MR =mp/mg
2 Zol5t2 M Rof thet A=2|712to] Shstgfo] 120 2 f0IH tA|Q| S7HL0] 12k
SUULL ROotA 2 A= TTsitt 22 =22 2tof L2|717H0] 15 g5t St

SHH, QIS8 A(t) = t AR MZSH AFZ0| t2150f| AtLE HIE2 ZHO|51¥ oM O|= ¢
AAOM =7F AFYE (instantaneous death rate) 2 sHAIE 4= QUCH O|A| ¢t A|HOA S
A9 ASE8S 22 Ap(t) 2t A (t) 2t 5HH /8| H| (HR, hazard ratio) =

= Holstn HR(t)o| gt 42|17 2te| 5t31gtol 120t 2oft geto| 9380 9/of

QOIEP A2 HOR WCIEICE 22 =2|2 Diof A2 R7H0] 12 BEHE

LS9 20l Qle Ao TSIt TS U HR(t) = AlZHt0l| 2 E35122 012 A|H
Ofl M Al LF5H{OF B T

Of BtCt. Of2fst 2HS §lOH7| 23l CHEZE2Q| 2 IS Bl AlZHol 2A|810]
7

4 (proportional hazard assumption) sty stLte| 2k

7= HR(t) = Ap(t)/Ao(t), Vt
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|:|0||

9|

= 145

o

_/'\_
OffA] - |2 2HAL=Z (lung) € OIE5t S2teh Hl MRS Aths 24t

fit <- survfit(Surv(time/365.25, status==1) ~ factor(sex), data=lung,
conf .type="none")

m <- quantile(fit, p=0.5); m

#> 50

#> factor(sex)=1 2.299795

#> factor(sex)=2 1.448323

m[1] / m[2]

#> [1] 1.587902

Strata = factor(sex)=1 =#= factor(sex)=2

1.001

ot o
a1 ~
o ol

Survival probability
3

0.00-

Time
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OfA| - SAZ BALAHR (Melanoma) S 0183101 ¢ = 100/A /&S bl 72 A4k Bt

fit <- survfit(Surv(time/365.25, status==1) ~ ulcer, data=Melanoma)
st <- summary(fit, time=10)$surv; st

#> [1] 0.8129165 0.4306245

st[2] / st[1]

#> [1] 0.5297278

Strata =+ ulcer=0 =+ ulcer=1

1.00 I
I
LLANL ‘I nu sl . .
a """"""""" T -
£0.751 -
o 1
CU 1
Q 1
9 1
S 0.50- !
(_6 ----------------------------
= !
> |
3 .
a 0.25 :
I
1
0.001 !
0 5 10 15

Time
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6.3 Z22|7=2Y

6.3.1 Z23|7=2H

o
ﬁ
rr
)
ool
njo
0
N
40
p'ﬂ
Tol

r

Ht2 dYst= EHO|Ct O] 2 01IA1 CIRUE 2 MEMIEH%JE¢
t =

=AM, SHF0| S 40f 0|2|= &2 7tgsts GYOICt ZA (Cox, 1972)= F
HAY YYo= SEHTRZO|M| 37| 2™ S CHE2t 20| A5t AC.

™o

MY, <Y, < <Y, 0l2t5tn0
512t O|mf R, 2 Y, 2x7tA| MZsf QL= &2to| et LIEpACD Bt o R, & 9/51 218

risk set) 0|2t H2C},

r_l.l.

—~

MZI|1HT), Ty, -, T, 0 Yo|==AHCHo| oJ5f (Y4, 6y), -+, (Y, §,)8 #E7s
ota, pfel a2 AHE Xy, -, X, (B, x; = (X, -, X;,)") 0l UCtH 542t
ESH 2IF FOIH AS Wl A2 tOIIM] A-ES A(t : ») 2t 5tz = 00IAQ| IR E, 5,
712 I8 & (baseline hazard)g Ay(t) 2t 5t2t. o

At : x) = exp(X'B) Ao ()

2719 2 S HIHIEZH (proportional hazard model) 0|2t StCt,

Bl @I 20| CHEt 7t & &

SO| A[ZHof ZHA|210] YTt 20| S FAISt= HEHE E040F ST 2|?|74|—|—E 2=
o t

ArE5EH FE-ME0| HHE2H (Newton-Raphson iteration) 0l 2|3 &l 0F STt

o
o
I=}
rir
)
(]
for
O
_O'E
rIr

—

O] BHEES ZYE £ QUCt 07|M, I1(6) & IMZEEHZ| A Bo|ct. 3/ HA %2
FZ2[E 0|85t F0{7 SHZ0|| Chet Y=2+S Y & AUCH A
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Solt

= ea:p{ i Ao(u)du} &g B & gt WS4 S(t - 2) S 25| 915

) =
o N EE Ay S 2HsHo} SHEC| B YoM T8 S5 CiYS
S

B2 = P E|Z2E N EE A
£ 2 YolOF st= 247t L0t ULt O] F ol Ml 712 2HRS AGHC @M BIE2S
(Breslow, 1972)=
- n 5.
So(t) = H (1— - ,
B:y,; <t ZjGRL €$p<ﬂ] )
= Aot =l O] 2HZ|Q| AHE 42 7HE 4+ U= Aot
StH Z|OFE|A (Tsiatis, 1978)=
n
0
Ao(t) = :
%05, cap(xf)
= Al2tSIA=H Ol= AlHE 0|22 A3 (Link, 1979)= O] ALet4E MYz HAZESH
steE A st
6.3.2 c-index
ASINA| SEZTE YA Ot ZEAS| 2 Y S AVfotRUCt HEE AR
OiLE 22 AQ7t= &4 SRe| SHES CHYSIY S T AlLHE M= A[ZHof TS | =2k
(prediction) O] A 1 etzjo| 2= A7t HOtLt 7i7k2 7t 5h= Z40|Ct. OfA| ATt 29|
o238 Yotst7| floli TSt 22 YRS AL ST HA EHXIEE 0|50 ZAZHO|
A2l & AIFAIRO| 22| YV (x) 2t AIEARO| SHES EHAIZO| 9|5t0] {EHe
DO CHUBH 2o 2|V (x) 2| 2t0|E 0|85l0{ 2Ho| 0|23 24 4 Tt M=
=AM 272t 0|2 3 H| w5t | 2Tt EAZF2ZE c-index/t & 0| 2&|=0| c-index
= concordant index8| S22 c-statistic f£= concordance 2t & STt

cindex2| HES O[3H317| QI3 4 MR AR HE| MYFH}. c-index2 n7jo|
22| Yy(x), -, Y, (x) 2 20Ol HBR| Y (x), -, ¥, (x) O] US T RE 7H53H 40| 740!
(5) = (n— 1)/270 201N Y;(x), Y;(x) Ol T4 AR Y (x), Y;(x) O tha BA7t
U2|5t= 4 (pain) 2l HIES LIEHE 200Ich & o PAHO=2 ot}
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n = 5709 &322 1,2,3,4,5 &, Y,(x) =14, i =1,-,5)2 5t1, AE=zE
1,2,3,4,5(F Yi(x) = i,i = 1,--,5)2 3% BE 7458 40| Hj4= 107H0]
1 Yi(x), Y;(x)2f T 2hA et Y;(x), Y( )2l THA 2AZE Lz|ot= &2l ZH4= Al 10

ZHC}. T2tAl c-index= 10/10=1.00| EIC}. O] AL A&|7} 10, 20, 30, 40, 50 (&
(x) = 104, i = 1,---,5)2t tH2t= c-index= 0J435] 1.00|Ct. =

=, c-index= EH;
A IR R Aetz| g O A= A5 A=A E=Ct 22 0|F=2 Ag
% v

2|17+0.1, 0.2,

o

LS —

3,04,05 (&, Y,(x) = 0.1i, i = 1,-,5)2t 3tH2t= c-index
2l& 03l 1, 2,3, 4,52 511, AF2IE 5, 4, 3,2, 1 0|2t ot HE2[9 tiA
F2| 0| CHA 2HA|7} Yz|5H= 40| SHLHE Y222 c-index= 0/10 = 0.00| EIC}.
2701, 2, 3,5, 4 2 SIEH S22 4 (4,5)2F HEH=|Ql 4 (5,4)8 Al 2&

o

ke
o
%
el

e

2

40 12 x _IINI
J]
ol

Ho| Cj4 AL Y2|SI2E c-index'= 9/10 = 0.97} EC},
HBa|7L 22 2 (tie) A 1/29] IHEAIZ BOIFICH Z, BEE 01W3] 1,2, 3, 4,
52 313, MBS 1, 1,2, 3, 4 2} 5% HE/Q) 4 (1,2)2F HBR|O| 4 (1,1) A2l5H
DE 20| tha BHIF Y2IFIDE c-index= 9.5/10 = 0,957+ EICt

M2 5t

(2,3), (2, 4) (2,5)§H 740|CH &, c-index= 7/8 = 0.8757}F EIC} YBtHO 2 -
= CHS 2 20| ol

o

52| 8 o2 Yot AR (random guess) c-index= 0.50] 7t7+2 40| Lt O]
g2 d2te 4= UCH AeE 20| o= =9 o5
}.

2 (0.7 W] 0.8 0]4)0]0{OF B,

ﬂJlO rir
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2 , |?|74|T
FY2|9| 2|52 exp(coef), 2| HAF 2|9 HERR}= se(coef), z& EES A4
coef / se(coef), Pr(> |z|) &= p—valueS LIEIHCE 0]2{t Zf50| 2|0|5t= HIS 0|55}
QIo ZIA 20| HO|F CHA| AT E A}

-IN

A(t = x) = exp(x'B) Ao (1)

OlM A(t : x)/Ag(t) = exp(x’B) O|E2 OfH S x7t 1Tt S7te ©ff 3|7 A%

dz[9] A £=50| BIZ 2|&dE (hazard rate)2| S7t2|7} =[= A0|C} O|& =0, & $7HI
(thickness) 2| 22 3 = 0.109, expf = 1.115, se(3) = 0.038, z = 0.109/0.038 =
2.8872M & EH7t lmm Z7t51% SME 98 80| 2.8878 S7}6tCHs SO 2 siMet
T ACH A &3 2H=2 A Y29 A4S0l thigt 95% 12| F2H0] HAI=|0f ATt
§|;L|74|¢9| 2142 exp(B) Ol T 95% AZITZHS exp(B + 1.96se()) 2.2 F0fIc}
02 S0f, & 7 (thickness)2] AL exp(0.109 £ 1.96 x 0.0378) = (1.0356, 1.201)
0| 5“1% YBtH O 2 3| A 49| A4S exp(B)O0ll ThEH 95% A2|F2H0] 18 EEHSHA|
22 p—values 0.052C} 27| =0 IS0 RolsHH kS D|rICtn & 4= ATt O]

HHOM EMZ L9l L sex2t age= Y-S0 F2let SHZO| OtL 12, thickness2t

ro
=

ol
JQE
O
Rl
HU
2
=
ol

5t ZtA 3|1 29| c-index= 0.75322 0|2210| H| 1 & E|ojLict

o
1>
£0
o

## cox regression

fit <- coxph(Surv(time, status==1) ~ ., Melanoma)

summary (fit)

#> Call:

#> coxph(formula = Surv(time, status == 1) ~ ., data = Melanoma)
#>

#> n= 205, number of events= 57

#>

#> coef exp(coef) se(coef) z Pr(>/z])
#> sex 0.448121 1.565368 0.266861 1.679 0.093107 .
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#> age 0.016805 1.016947 0.008578 1.959 0.050094 .
#> year -0.102566 0.902518 0.061007 -1.681 0.092719 .
#> thickness 0.100312 1.105516 0.038212 2.625 0.008660 *x*

#> ulcer 1.194555 3.302087 0.309254 3.863 0.000112 ***
#> —

#> Signif. codes: 0 'x¥x' 0.001 'xx' 0.01 'x' 0.05 '.' 0.1 ' ' 1
#>

#> exp (coef) exp(-coef) lower .95 upper .95

#> sex 1.5654 0.6388 0.9278 2.641

#> age 1.0169 0.9833 1.0000 1.034

#> year 0.9025 1.1080 0.8008 1.017

#> thickness 1.1055 0.9046 1.0257 1.191

#> ulcer 3.3021 0.3028 1.8012 6.054

#>

#> Concordance= 0.757 (se = 0.031 )

#> Likelihood ratio test= 44.4 on 5 df, p=2e-08

#> Wald test = 40.89 on 5 df, p=1e-07
#> Score (logrank) test = 48.14 on 5 df, p=3e-09

#fit$concordance

concordance (fit)

#> Call:

#> concordance. cozph(object = fit)

#>

#> n= 205

#> Concordance= 0.7572 se= 0.03115

#> concordant discordant tied.T tied.y tied.zy

#> 6559 2103 0 0 0
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3F2YOIM AMEE SHES USHSE 1Y 2 2T & AUs ST UESH RS
2tZ 5t 2S00 5t 0| B4MEH (variable selection) 202t SICH ZEAS| 2%
LSt o2 7t OfL, Ao 2 EE ME

MEl (forward selection), §I2 £& A7 (backward
eleimination), THA|1A MEH (stepwise selection) S0| QUCH EAZ 2LR0| A THA| 2 MEHO||

CHSE R code 2 £ 2 O3} ZCt.

## variable selection method

m_null <- coxph(Surv(time, status==1) ~ 1, Melanoma)

m_full <- coxph(Surv(time, status==1) ~ ., Melanoma)
### forward variable selection

fit <- step(m_null, list( formula(m_null),

formula(m_full)), "forward", F)

### backward variable elimination

fit <- step(m_full, "backward", F)
### stepwise variable selection

fit <- step(m_null, list( formula(m_null),

formula(m_full)), "both", F)

### Result of stepwise variable selection

#> Start: AIC=566.4

#> Surv(time, status == 1) ~ 1
#>

#> Df AIC

#> + ulcer 1 539.96

#> + thickness 1 549.21
#> + sex 1 562.25
#> + age 1 563.40
#> <none> 566.40
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#> + year 1 566.75
#>
#> Step: AIC=539.96

#> Surv(time, status == 1) ~ ulcer
#>
#> Df AIC

#> + thickness 1 533.96

#> + sex 1 538.24
#> + age 1 538.60
#> <none> 539.96
#> + year 1 540.44
#> - ulcer 1 566.40
#>

#> Step: AIC=533.96

#> Surv(time, status == 1) ~ ulcer + thickness
#>

#> Df AIC

#> + sex 1 533.01

#> + age 1 533.39

#> <none> 533.96

#> + year 1 534.99

#> - thickness 1 539.96
#> - ulcer 1 549.21
#>

#> Step: AIC=533.01

#> Surv(time, status == 1) ~ ulcer + thickness + sex
#>

#> Df AIC

#> + age 1 532.78

#> <none> 533.01

#> + year 1 5633.91

#> - sex 1 533.96
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#> - thickness 1 538.24
#> - ulcer 1 546.58
#>

#> Step: AIC=532.78

#> Surv(time, status == 1) ~ ulcer + thickness + sex + age
#>

#> Df AIC

#> + year 1 532.00

#> <none> 532.78

#> - age 1 533.01

#> - sex 1 533.39

#> - thickness 1 537.55
#> - ulcer 1 546.50
#>

#> Step: AIC=532

#> Surv(time, status == 1) ~ ulcer + thickness + sex + age + year
#>

#> Df AIC

#> <none> 532.00

#> - year 1 532.78

#> - sex 1 532.80

#> - age 1 533.91

#> - thickness 1 535.72

#> - ulcer 1 546.62

#> Call:

#> concordance.coxph(object = fit.step)

#>

#> n= 205

#> Concordance= 0.7572 se= 0.03115

#> concordant discordant tied.x tied.y tied.xy

#> 6559 2103 0 0 0
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## Penalized Cox regression

library(glmnet)
x = model.matrix(Surv(time, status==1) ~., data=Melanoma) [,-1]
y = Surv(Melanoma$time, Melanoma$status==1)

## lambda: tuning parameter

grid=10"seq(-3, 2, length=100)

## alpha: Ridge=0, Lasso=1, Elasticnet=0.5

alpha=1; set.seed(1234)

cv <- cv.glmnet(x, y, lambda=grid, alpha=alpha, standardize=F,
family="cox", type.measure = "C")

(bestlam = cv$lambda.min); (bestlam?2 = cv$lambda.lse)

#> [1] 0.00178865

#> [1] 0.05857021

## coefficients
fit <- glmnet(x, y, lambda=grid, alpha=alpha, standardize=F, family="cox")
coef (fit, s=bestlam)

#> 5 ¢ 1 sparse Matrixz of class "dgCMatriz"

# 1
#> sex 0.42388058
#> age 0.01675322
#> year -0.10041329

#> thickness 0.10113888
#> ulcer 1.16178035

## c-index

pred <- predict(fit, x, s=bestlam)
Cindex (pred, y)

#> [1] 0.7573309
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## Plot of Lasso regression
par (nfrow=c(1,2))
plot(fit, xvar="lambda", col=1:8); abline(v=log(bestlam), col=2, lty=2)

legend("topright", colnames(x), col=1:8, text.col=1:8, 1lty=1, bty="n"

plot(cv); title(sub=paste("Best Log Lambda = ", round(log(bestlam), 2)))
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— sex
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® —— thickness © ! \
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@ e
_5 © _| o) © _| { ..
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5 3 1
8 g n © onn
wn
3 - ° ] | —
e
o | 3‘2 b
o <
3
T T T T T T T T T T T T
-6 -4 -2 0 2 4 -6 -4 -2 0 2 4
Log Lambda Log(A)

Best Log Lambda = -6.33

112l 6.4: Plot of Lasso regression
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SAAROM SHE x,; 2f 20| iY== BHS R4 v, E 02510 2 S A7 HHS
7|AgkE (machine learning) 0|2t ST} 7| AI&HE29| 1214 SH= MER 3HE S st
20| CHYstR S mf BHS 4 S of|2517| fIF Z0|Ct 0]2Et 7| AlS&tE 2 Q15|

HU
o
o>
oo

(artificial intelligence) 2| 7+& a4l d 7|=0|Ct =, F Ot ASR|S0[2H A|TH

7|A2tE AO|Ct.

7|1Aetas2 gtaH o HElol| et 2| & 7HR| = LiElC BSR4 HEHO|H 3|2
(regression model) 0| |12, O|AFHO|H 222 (classification model)O| ZICt, SHH, Ht
—

SHAT}OL|G = A= &3] #33} (clustering) O] 22101 A7t CHEEO0|C} 7|A|gHE

SHE Ui S2C R 7|Hets YES2 2|2 ER2Y = U 4 80| 7ts3itt.

10

AstEol LYole 0i? B2 SF7F AL HEHQ! & 74| 2h ATHstc 7| Aetg 2|
Y- TSt 2T LIBS2 2 =MOM CHR7(0E U R ETisto] sig 2855 2st

HI2ICH 2 WA 142l S8 w42 KMOOC 2} “Al A2tE fI%t 844 S5 &

(1) 22|AEl 3?2F (logistic regression model)
(2) MEE HIE{7|H (svm - support vector machine)
(3) BiiZ (bagging)

(4) BAEl (boosting)

(5) 2HH Z2|AE (random forest)

(6) AZAIAY (dnn - deep neural network)
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DjAled 2HOR 22 AEET,

10 30 35 99 185 204 210 232 232 279 ...

1972 1968 1977 1968 1965 1971 1972 1974 1968 1971

offA] : E44Z 22 (Melanoma) 9| YE01Z OS5

SVR, random forest, boosting S AJH3tC}
library(MASS)

data(Melanoma)

str (Melanoma)

#> 'data. frame': 205 obs. of 7 wariables:

#> $ time > int

#> $ status cint 3323111311

#> $ sex cent 1110111010 ...

#>  § age coant 76 56 41 71 52 28 77 60 49 68 ...
#> § year : ant

#> § thickness: num 6.76 0.65 1.34 2.9 12.08 ...
#> $ ulcer cint 1000111111

## training data and test data

library(caret)

library(tidyverse)

set.seed(1234)

wd <- Melanoma %>% mutate(status = factor(as.numeric(status==1)))

id <- createDataPartition(wd$status, p=0.75, list=F)

train <- wd[id,]; test <- wd[-id,]

DescTools: :Freq(train$status)

#> level freq perc cumfreq
#> 1 0 111 72.17% 111
#> 2 1 43 27.97% 154

DescTools: :Freq(test$status)

#> level freq perc cumfreq
#> 1 0 37 72.57 37
#> 2 1 14 27.5% 51

cumperc
72.1%
100.0),

cumperc
72.5Y
100.0),
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#4# logistic regression

library (pROC)

ff <- formula("status ~ time + sex + age + year + thickness + ulcer")

fit <- glm(status=='1' ~., train, binomial)
pred <- predict(fit, test, "response")
roc(test$status, pred)$auc

#> Area under the curve: 0.9228

#4# classification trees

require(rpart)

fit <- rpart(status ~., train)
pred <- predict(fit, test)[,'1']
roc(test$status, pred)S$auc

#> Area under the curve: 0.7809

## bagging

library(adabag)

fit <- bagging(status ~ ., train, 10)
pred <- predict(fit, test)$probl[,2]
roc(test$status, pred)$auc

#> Area under the curve: 0.916

## boosting

library(adabag)

fit <- boosting(status ~ ., train, 10)
pred <- predict(fit, test)$probl[,2]
roc(test$status, pred)S$auc

#> Area under the curve: 0.9093

159
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## random forest

library(randomForest)

fit <- randomForest(status ~ ., train)
pred <- predict(fit, test, "prob") [,2]
roc(test$status, pred)$auc

#> Area under the curve: 0.9237

## support vector machine (SVM)

library(e1071)

fit <- svm(status ~ ., train, T)
pred <- predict(fit, test, T)

pred <- attr(pred, "probabilities")[,2]
roc(test$status, pred)S$auc

#> Area under the curve: 0.9537

## deep neural network (DNN)

library(neuralnet)
fit <- neuralnet (ff, train, c(10,10), F)
pred <- compute(fit, test)$net.result[,2]
roc(test$status, pred)S$auc
#> Area under the curve: 0.8359
H 6.2: Comparison of AUC
Logit | CART | Bagging | Boosting | RandomForest | SVM DNN
0.923 | 0.781 0.916 0.909 0.924 0.954 | 0.836
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O|A| : EAHZ Stz (Melanoma) 2| AZA|Zt of

random forest, boosting )& AJH3HC}.

## training data and test data

library(caret)

library(tidyverse)

set.seed(1234)
wd <- Melanoma %>’ mutate( as.numeric(status==1))
id <- createDataPartition(wd$status, 0.75, F)

train <- wd[id,]; test <- wd[-id,]

## Cox regression

library(survival)

library(Hmisc)

ff <- formula("Surv(time, status) ~ sex + age + year + thickness + ulcer")

fit <- coxph(£ff, train)
concordance(fit, test)$concordance

#> [1] 0.7524272

pred <- predict(fit, test)

rcorr.cens(-pred, Surv(test$time, test$status==1))["C Index"]
#> C Indez

#> 0.7524272
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## survival trees

require(rpart)

fit <- rpart({ff, train)

pred <- predict(fit, test)

rcorr.cens(l-pred, Surv(test$time, test$status==1))["C Index"]
#> C Index

#> 0.6294498

## random forest

library(ranger)

fit <- ranger(ff, train)

1-fit$prediction.error

#> [1] 0.7060345

pred <- predict(fit, test)$survivall,length(fit$unique.death.times)]
rcorr.cens (pred, Surv(test$time, testPstatus)) ["C Index"]

#> C Index

#> 0.7119741

## support vector machine (SVM)

library(survivalsvm)

fit <- survivalsvm(ff, train, 0.1)

pred <- predict(fit, test)

conindex(pred, Surv(test$time, test$status))

#> C Index

#> 0.4708738

rcorr.cens(pred$predicted, Surv(test$time, test$status))["C Index"]
#> C Indezx

#> 0.4708738
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## boosting

library (gbm)

fit <- gbm(ff, train,

pred <- predict(fit, test)

n COXph” )

rcorr.cens(l-pred, Surv(test$time, test$status==1))["C Index"]

#> C Indezx
#> 0.7249191

H 6.3: Comparison of C-index

Cox

SurvialTree

RandomForest

SVM

Boosting

CIndex | 0.752

0.629

0.712

0.471

0.725
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Ot 7| 2{sh 11,037 FO||A OtAI|Z2IS 58 (325 mg/day) 5| ot 11
t

o
219F (placebo) 2 =85 o= 60712 St =2 HAsIUEH TS

— o

AT EA g Ast A2 EA BH obsh &
oALE 28 139 10,898 11,037
A= 239 10,795 11,034
&t 378 21,693 22,071

Q| A=Of oist MU EE

RR — 139/11,037 _ 5gq

239/11,034
2 M OfATIIO| S80| HRFM LMES 42% HE YAAIHECID AT 4 QUCt Eat
95% A2|72+2 (0.473,0.715) 2 F0{Z|H p-value YA| 0.05LCt 22 2o 2 ZF0{ZICt

(2) 22 H| (odds ratio)

22| 22 H|E LIEHATE 017/ 22 (odds) 2t 2ol 22 =E1 2Ho|| 22|13
=X

O H|E LIEtHCt T2tM, 22 Hl= Alzel 2

22 H|(OR)& BEATOIM S8 A7 (AR-CIZ A0 AIBEIE ZE24 A2
2 of
zo} Y2 20| 220| H|S LiEHY

L=
Cta2t Z0[ ZolEtt.

_ (nq1/my )/ (nya/ny) _ nyqn
OR = (o s [ineafne) = mysnss

OZ LIEtH 4 9ol arek ORO| 120t 3H Al2Q 22 H|7} R 29| @ H|EC}
ACh= Zi0| 10t 2to™ 1 g2 siMECEH E6H ORO|| Bist 95% A2l 22t (L, U)
Ol 1 Bt AAY (&, L > 1) 1EC} 2o (Z, U < 1) p-value= 0.052C} 2H0f2ICH

(O) A=E AF7t JAL20| 0|2 S 2ASAH 5 22 210E LA

| S | =
a2 73 141 214
Al 2kgr2t orst 18 196 214



171

CH&AL 4= AlLE

=3l
(==}

7.5. Al

iol

428

337

91

iol

Q= HIL

ot

S|

| 2t=0f Cf

o
+

= 5.64

732196
18x141

i 5.644 =Ct1

9

= gl g

2= QAT E35, 95% 2|72k (3.222,9.863) 2 F0{2|0f p-value HA| 0.052Ct

110

OF
L

ioll
xr

==
1o

FEOf| M

[s)
=

2x28

EEE

7to[A& 84, T2

ot

S

"HtHo 2 0|0 A7

(Fisher's exact test) S0| QUC}.

ChA2E 2 ZAt

o
[ =]

7.5 Al

& tie2tE 02

Ol A Al

=
Of A| 12 ZH0f| AtEE=

2 SAl

3/8- Ol A}

FAIE

o 071 M= 7HY

)

ret

1

__o“_

2|2

12 2BEO HEE2o=Z A9

oko| 2|2

=
—

22 HEfo] BEOR 7|

fpy = pg >0

Hy:py —pp =0, H,y

51 0.052 FO{&) 2 FOHS

21— p2tn siAk 4AHH2 55/ 0.80, 2 = 0.22 F0{7|

a (

L
—

22

7t



172 A7 YLA

0% = Z_z 4 Z-i?f 522 LM SHoA
X-Y
a= P( >>Za)
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XY X—-Y -6 )
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O R0ZICt T 07| r2 HIEE (allocation rate) 2 LIEHLHCE,

OlA] : & o] WHAt0[7F§ = 10|12, BEHAIL 0y = 0y = 10[2} 745t} (1)
2t ATl #2377t ny = ny, = 10¥M R+ o = 0.055t0A AP (power) S

ALtstAL (2) HEH 80% L 2+1=& E237|E AlLStAtL

## (1) calc power

power.t.test( 1, 1, 10, 0.05)
#>

#> Two-sample t test power calculation

#>

#> n = 10

#> delta = 1

#> sd = 1

#> sig.level = 0.05

#> power = 0.5619846

#> alternative = two.stded
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#>

#> NOTE: n 4s number in *each* group

## (2) calc sample size

power.t.test(delta=1, sd=1, power=0.8, sig.level=0.05)

#>

#> Two-sample t test power calculation
#>

#> n = 16.71477

#> delta = 1

#> sd =1

#> sig.level = 0.05

#> power = 0.8

#> alternative = two.sided

#>

#> NOTE: n is number in *each* group
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oAl : & QeS| HIZO| py = 0.5, p, = 0.752} JHatAL. (1) 2t Yere| B2AI|E
n = 1092 B0 RLE a = 0.0531014 A (powen) S HMBHAL. (2) 22 80%
Unj 2Tl BEIIIS AL,

## (1) calc power
power.prop.test(p1=0.5, p2=0.75, n=10, sig.level=0.05)

#>

#> Two-sample comparison of proportions power calculation
#>

#> n = 10

#> pl = 0.5

#> p2 = 0.75

#> sig.level = 0.05

#> power = 0.2022738

#> alternative = two.sided

#>

#> NOTE: n <s number in *each* group

## (2) calc sample size
power.prop.test(pl1=0.5, p2=0.75, power=0.8, sig.level=0.05)

#>

#> Two-sample comparison of proportions power calculation
#>

#> n = 57.67344

#> pl = 0.5

#> p2 = 0.75

#> sig.level = 0.05

#> power = 0.8

#> alternative = two.sided

#>

#> NOTE: n <s number in *each* group
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